AF-2258 BCC1C1

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

First Semester
Commerce with Computer Applicaticns
ADVANCED OF ACCOUNTANCY .1
(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 = 20)

Answer all questinns.

1. Define Accounting.

sewutd @ LILGlel. wev - euenrellensSHesIDd &(HS.

2. What is Ledger ?

Cuilg(D eTedTMM6V 6TEBTEHT ?



What is Suspense Account ?

S| BTMDS G5 561015 (S) 6T6IMT6V 6T6TTE0 2

What do you mean by Debit balance ‘as per pass
book ?

CleevGevl_1qes Lilg LM BBLY weorug upHl 2 g
HHSS WGl ?

State any two causestor depreciation.

CauwiwrergSnsnan ‘snyewrd gCseIn B rewnriqen e
G INNICEN

What<is Machine Hour Rate ?

Buidly wewfl NSl stasrmmed eT6vTORT ?
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What do you mean by ‘Adjustments’ ?

faaL_(HSe0&6T eTerTLg LM 2 10 SH[HSFH Wg ?

What is Deferred Revenue Expendituse ¥

BeTuwer eumeumules Claev6 6 6765 )6V 6T6uTEUT ?

What do you understand by Average Clause’ ?

grnefl eNdlgreenre eeude BelF YA

ClameverLg wing 7

What is ‘Salvage’ ?

sTUEDOUUL L ClLm(heT sTarmmed eTevtenr ?
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Part- B (5bx5=25)

Answer all questions, choosing either (a) or (b).

11. (a) Give the rules of Double Entry System of

Accounting.

@rieoL udle] peons SewTsE L LleilweS e
ANdl(pemmaenen &(hHs.

(Or)

(b) Describe the benefits of subsidiary books.

emeust X nmeflest mesTem G emen elleufl&ss.
8l B

12. (a) From the following information, prepare a
tank Reconciliation Statement as on

31-12-2005.
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(i1)

(iii)

(iv)

(v)

Balance as per cash book

Cheques issued but not presented

for payment

Cheques deposited 1ir-bank but not

collected

Bank paid insurance premium

Interest on Investment collected

by Bank

Rs.

12,500

900

1,200

500

200
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(i)

(i1)

(iii)

(iv)

(v)

S eupd eNlurmaTemnT(h 31-12-2005 oyemm)

QR aundlE eflas_(h JNsms swny Clauws :

Qrrés erliqemm @ pHLIY

I6flsg arCarensvger ClFe) Hs:ma8 @

QUTTSHED 6

eumdlulley Cleeng Hhv: srCarenevs s

6(&60M& N H61)6l

aumdl ciexsHw S (Wpemestobd

alnlsl au@edsSs (PHeSHs6T g euliq

(Or)

12,500

900

1,200

500

200
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(b) Rectify the following errors discovered after

the preparation of Trial Balance :

(1) A Sale of Rs. 60 posted to the credit of

customer’s account.

(i1) Sales Book was under cost hy Rs. 200.

(i11) Rs. 125 received from Xposted to the credit

of Y.

@muurnuelmne. Gt sevLBlhs $Lpeu (HLD

Wenasener Sl(ihHa s :

(1) epuees-en. 60 6UMGSHENSWTET] & 68018 60

eurQeraySlujemeng.

(i) ““pDuener @B ep. 200 GODUTSH

Fa L LU (heTeng).

(iii) erael_OmBEH QuOD ehH. 125 euiufes

sew1adlev eurleu(paLiLL_(HeTeng).
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13.

(a)

(b)

A firm purchases a 3 years lease for
Rs. 1,00,000 on 1.1.2005. It decides to write
off depreciation on the Annuity method, the
Bank rate of interest in at 5% p.a. The
annuity table show that a sum of iz, 36,721
should be written off every year.-Show the

lease account for 3 years.

1.1.2005-6v @ Hmieues:o . 1,00,000 ma&mew
GS5SME Qerenn eUTEILNLG. YewT(DS STens
wopuled @an@ Carlbreaid aws (Pyey
QEwwiiulLg). eua el iy el oy 6mTIenE
5% 2 6Tengl. SLeTHSHOBTENS L 616w 6w
Uy gerolmes@ eh. 36,721 Gguiomestid
Curala @y sur L Ceuest(ib. @b epenm 26510

SOV (§HSH8 DS &6W0TS (G &H(HS.

(Or)

A'machine was purchase for Rs. 30,000 on
1.1.2002. After 5 years depreciating it by 16%
under straight line method, it was sold for
Rs. 5,000. Show the machine account for the

5 years period.
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14. (a)

Capital a/c

Interest (or)

Bad debts

Depreciatian

Gross profit

1.1.2002 ep. 30,000 Mm@ @@m» Quidlro
aumrmisliul L g CrrCari(® wpeopuleo 16%

Couinnesd eT(pal, BbhSTew(H & EHs @ LI

31.12.20066v ¢p. 5,000 @ epasliul L g.

oG TeT (D &6V QUhS 16 HETEHE) (bhHHs.

From the following informatiors, prepare a

Profit and Loss account :—

Rs.

72,000

1,320

2,435

33,290

Salaries

Postage

Insurance

Advertisement

Goodwill

Rs.

8,000

574

835

1,443

15,000
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Speaumb elurtisefledBHg @m Qeoru BLL &

HETEH (G SW &S :

(W) (W)
PSO &/ & 72,000 FLDLIGITIRIG 61T 8,000
aullg eurey 1,320 gumeo Glewey 574
QU &L_68T 546 ARNIN{C) 835
GCawiwremasst 2,435 651 61TLD LI [ 1B & 61T 1,443
Quwrgg @eomrud 33,290 BHGILWT 15,000
(Or)

(b) From the following information regarding
sports materials, find out the net value to be

shown in Income and expenditure account.
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Rs. Rs.

Opening Balance 4,000  Purchases 16,000

Closing Balance 6,000  Sale of old matet.als 100

Nlewemwn_(H& sTHTRST (5055 S eu(HLD
eNlurrisefled(Bhgl eumeurw DFevelle semradleo

61 Ceustrriqw Blar 10f01L srews.

W) W)
Qsr_&ss QmLy 40007 QameT(pse0 16,000
Snid @muy 6,000 uewwer NDHME 100

15. (a) Afire occurred in the premises of a merchant
on 15-6-2008, a considerable part of the stock
was destroyed. The value of stock saved was
Rs. 4,500. The books disclosed that on
1.4.2008 the stock was valued at Rs. 36,750.
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The purchases to the date of the five
amounted to Rs. 1,04, 940 and the sales
Rs. 1,56,500. On investigation it was found
that during the past five years the average
gross profit on sales was 36%. Calculate the

claim to be made.

15.6.2008 9jenim) (i ewiaiimnSest euemnas o
Sallugg esnuLl (D sewflle onsr ojene| Fr& @ s
CegwenLhger. LUTHNEHULLL &r& @ s6rfl e
wSliy em, 4,500. aBs6m GeuaflliLSgeus,
1.4.2008 gyev1m)| & salmLy em. 36,750. & ellugg)
euemyuileonesr DmieTpgeo em. 1,04,940 wHmDd
Apuenen em. 1,56,500. eNlenflgs euenaulilev
sLbd Rz e sents srrefl (elpnuene
B ) Glwrss Qeoru Ndlgw 36% erewr
srewtLulL gl SaarlSH Carflsensenw

&6c&S (D&,

(Or)
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(b) A trader has his stock insured against fire.
Subsequently a five destroyed a part of the
stock which was value on the data of the
Rs. 60,000. The stock was insured subject
to average clause stock salvaged Es. 12,000.
Stock was insured for Rs. 36,000.-Calculate

the claim.

@@ Awururfl ger #r&sHms EhSHE SHaTUi(H
Qewdmbary. Yersgwh Brem & eNugdled
Cegliu@ssliuli. Ers@sen eh. 60,000 ereu
pHUN LUl L s srrefl Ndgrerrsdns
2 Ll L @&e;salen @ U@GS sriurmmma) em.
12,000. gr&s, LSl (S Ggrens er. 36,000.

el (D Canflsamsamw sersd(Hs.

Part - C (3 x 10 =30)

Answer any three questions .

16. Prepare Trial Balance after giving Journal and

Ledger from the following transactions :
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Rs.

2005
January 1 Capital paid into Bank 1,00,000
2 Cash sales 42,000
5 Machinery purchasec 25,000
9 Bought goods for cash 50,000
12 Goods sold ta Mohan 20,000
15 Bought goods from Shogan 35,000
S U@L BL UL EMESEHSHE GOLUGU@G WwOHMID
CuCr(® sia & @muumnie) swrflés :
erh.
2005
o eveu ] 1 eumdluller QeasSlw wpgeo  1,00,000
2 Qras elmuenes 42,000
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5 Quidlrn eurmidlwg 25,000

9 OQrrsssdne eurmdlu #reE 50,000

12 CGuwrsefllngE srseE elpmns: 20,000

15 Gegraefl_blpHg erde;

eumm&lw g 35,000

17. PassJournal entriesto rectify the following errors

and prepare Susp=2nse a/c :—

(i)

The %oval of sales book was under cost by

Rs:.2,900.

The purchase of machinery Rs. 3,000 was

entered in the purchases book.
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(i1i) A sale of Rs. 45 to Selvan was posted in his

account as Rs. 54.

(iv) The total of purchase return was over cost by

Rs. 2,000.

(v) The total of sales book 1,122 was wrongly

posted in the ledger as 1.22%.

Sp eumb Venpsenar Hmss udlejsar Fng
SIS F| &/ (& SWnilSEs:

(1) epuener & @, 2,000 Gemmauns Fal L Ll {

ML g

(1) QuiRTb eurmidlwg em. 3,000 Q&TET(LPSEV 671160

uhaiul L g).

(ii1) em. 45m@E OCleeuas@ eNpuene Clawig eur

sewIsdlev ¢h. 54 16w TPSLILILL G

16 AF-2258




(iv) Qararwpse Hmuu g@ ep. 2,000 Hswrs

18.

Fnl LUl (el gy.

(v) epuenes gLligen gl R50sTeMS op. 1,122

CuGriiiged ep. 1,222 et Homgeons
PSLILILL ).

A machinery was purchasea-on 1.1.2005 for
Rs. 40,000. The same year in‘g*ine another machine
was purchased for Rs. 15:9C0 and Rs. 5,000 were
spent on its installaticn.On 30.6.2007 the second
machine was sold for Rs. 15,000 prepare machine
a/cupto 31.12.2007 by depreciating it at 10% under

Reducing Instx!ment method.

1.1.2005 ‘@esmy ep. 40,000 p@ @@ DuhbSrb
aurbislc. L gl. 965 e 30 esfled Cuoeyib e
Quin sy eurmiglwg). ep. 15,000 m@ @z Hlmieueuns
Cleece] em. 5,000, 30-6-2007 ojertm B yevorL_meug
Quidlrbd ep. 15,000 m@ eNnslUlL g. &eDha)
Geev (pemvpuiled 10% Gswiwmestd etepg 31.12.2007

auenr QunSrs sews @ SWflss.
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19.

20.

How a Balance Sheet differs from a Trial Balance.

@m @mly Hoas@Hlly ahmerd @ @mUiumdei

S mhg CaumuBFms.

On 31-12-2006 the godown of a busin¢ssiman was

destroyed by fire. From the recerds following

information could be gathered. The amount of

policy Rs. 1,50,000.

Particulars 2004

Rs

Sales 6,009,000

Gross profit 1,80,000

Opening Stock —

Purcr.ases —

Salvaged -

2005

Rs.

6,60,000

1,98,000

2006

Rs.

6,48,000

1,65,000

4,60,000

11,400

calculate the amount of claim for insurance.

18
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31.12.2006-60 g@(h elwnumflullest Flmidleo & elug g
apul @ pwalb CeswenL_hger. b sefled) mnbsa
Speumb Fseueser LLHGL CeaflesliulL er.

s ureldl Cgrens em. 1,50,000.

eNlLiyris el 2004 2005 2006
b. B .
eNlmLien 6wt 6,00,000 6,060,000  6,48,000

Quwrss Qeoruwd 1,880,205  1,98,000 -

QsT_s8& &r85@) - - 1,65,000
Q& e (g e0 — - 4,60,000
STUUTHN W ZT&HGHSH6T — - 11,400

srul gmarer Canflamas OgTens &ewTadl L.

skkok

19 AF-2258




AF-2259 BCC1C2

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010
First Semester
Commerce with Computer Applicatidons
FUNDAMENTALS OF COMPUTEXS
(CBCS—2008 onwards)

Time : 3 Hours Mazimum : 75 Marks

Part - A (10 x 2 = 20)

Answer all quecrions.

1. What is Digital Coranuter ?

6T6UBTLOM6VTE: 6Ly LITEDT 6T60TMIT6D 6163168 2

2. Whatis Software ?

&ILL_6D6NS Falh) 6T6STMHTED 6165160 ?



What is Transfer File ?

wrHm CarliL eTemmey eTevTevr ?

What is Network Topology ?

QBLGleunys GLriunedgd stesrmms visteur ?

What is TCP|IP ?

TCP | IP etesimmev et6m6w ?

What is meanuvty Operating system ?

Qw61 () (pewm eTesTLIGES GlLIM(H6T Wng ?

What is UNIX ?

upesflgen eTeTmmed etesTEET ?
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10.

11.

What is GUI ?

GUI etetrmmev et6vtent ?

What is Windows XT ?

eNlesoTGL_61v - 618610 1q. 6TEUTM M6V, 615w 651 ?

What is Icon ?

05 ETETT 6TEBTMIT6D 6T6VI<TT ?

Rart-B (5bx5=25)

Answerall the questions.

(a) What are the basic components of a computer ?

senflliLimesilen g LliLenL UTSRIGET wWieneu ?

(Or)
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12.

13.

(b)

(a)

(b)

(a)

Explain any three storage device.

unrgsriy smelaser gCHenid e el ew oot
eXlend: @ s.

Explain the working of LAN

Geverr-esfler ClaweoLim_iqenes 6 sT&s 6] L.

(Or)

State the needs fer ¢ommunication media.

Faeue0 Qgni i engemseflenn CgHemeusenen

eXlené @

Discizss about classification of operating

sysvem.

Lleweour_(H Sl Lgdles LLCoum auenssemeT

eNeund).

(Or)

4 AF-2259




14.

(b)

(a)

(b)

State any four MS-DOS commands.

CHeID BI6sI(E 6TLD.6T6N.-L_ M6 &L_L_ 65686

umNl Fomis.

Write a note on Unix file systza::

wefl&enll -6 Carliy medL(peom &M S8

6LI6MI]S.

(Cr)

What do yon understand by File permission
in UNIX *

wetlgadllesr Carly emwd @MssH BeSy
Bleug wng ?
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15. (a) How do you move and sizing windows ?

NeCLrev-eww B&ETSFH W WHMID WOIHNHILD
e wilenes el6ns@s.

(Or)

(b) State the salient featurc¢s of Windows 98.

eNerGL_merv 98-6o1 ZimULNwWeLS6T wWnemeu ?

Par:-C (3 x10=30)

Answer 2.y tiiree questions.

16. Explain the Chief characteristics of a computer.

@o;uafluurefllen wesdw HApllblueoysenen

X% @,

6 AF-2259




17.

18.

19.

20.

Write a note on protocols.

HCrrlLasmevaseT M5 euenrs.

Discuss the functions of Operating System.

Qeweour’ (B S sdles uewfllaer Ll eSleund).

Explain the file security nrecedure in UNIX.

upellseflesr Cami uigasriy BenL (penmuldl enest
eXlend: @ s.

What are tiie teatures of Windows XP ?

eMewmCL_merv - e1& 60N ull6rr HApLifweoysen wremen ?

skkok
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AF-2260 BCC2C1

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

Second Semester
Commerce with Computer Applicaticns
ADVANCED ACCOUNTANCY -iI
(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 = 20)

Answer all questinns.

1. What is Bills of Exchange ?

DTMHM] 616507131 & 61T 6TESTMHN6D 6T6UTEET 2

2. What ismeant by Noting charges ?

@SS SLL_ewwTId eTevTLIG 60T OlLIM(heT wing) ?



What is Average Due Date ?

FTn&f S616NETT [T 6T6ITMMED 6T6TTE ?

What is Red Ink Interest ?

Fleuliy enw eul_Lg 6T6STMT6D 6T6BTAYT 7

What is Invoice Price ?

@iy eNemev eT6vTN;THV 6TEBTEN ?

What is Abnerizal Loss ?

SIETSNTETT HL_L_LD 6T6WTMTE) 6T6IT60T 2

Wit is Joint Venture ?

B enewer element eTesTHTED 6T6BTEN ?

AF-2260




10.

Who are Co-ventures ?

B emesTell e EUTWIMET TS 61T 6TESTLIOUT W ?

What do you mean by Single Entry System ?

@nenpLll udley (peom eTesTLIGEE. G LN HeT Wrg ?

What is Statement of Affairs ?

UL eleurll L Igui6) 6T6TMMey 6T6uTenT ?

Rart-B (5bx5=25)

Answer all quzstions, choosing either (a) or (b).

11.

(a) Asun sold goods to Babu on 15 April 2007 for
Ls. 2,000 for which a bill of exchange for 3
months was drawn by Arun and accepted by
the later. Give journal entries in the Books of
both the parties assuming the Bill is

honoured on the due date.

3 AF-2260




(b)

gurge 1, 2007 erm em. 2,000 ssnes
Qlm(mL_s6m6IT | (TH6UoT 6T6vTLIOUT LIML| 6T6dTLIGM fIL_LD
ipuener Oeswsry. BBy edpueens
CgTensssTs peTm WIS WIHMNFFL I 6m e
S| (HETTT 61(LDS SI6MS OMHMEUT EIMMITE. 56 63 63T
Bremem WIHNESFL (O TOHSLILN = 6T6rTm)
sHmSSe0 Canewr(d B eu s e se6fl ey b
GSMUCULBLU udleysenens 5 mé.

(Or)

On 1.1.2005 Mr: Frasanna draw a 3 months
bill on Mr. Kapnan for Rs. 5,000. It was
accepted »v Kannan returns it to Prasanna.
Prasanna discount the bill with his bank at
6% p-a. on the due date the bill was

dishonoured.

Pass Journal entries in the books of

Prasanna.
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12.

(a)

Yrgesestn eTeotLiu) 2005-1d oy evo1( 2esreufl 1
SpID BT SHevsTevvren eTesTLIoU L5g em. 5,0008 s,

3 wrg sT0sHNEH LIVNFLH QeTemM
apdlenny. SewTewien IJFewesT  gDHM
Yreesesmeiln@ SHomul  eptiGesny.
Nrgesestn bwIHM Fenl Hew s 6umiSludlev
RUUDLSH 6e00T([(HD&6@E 6% (OiigLliLienullev
S6TEHLIG. QFWLSTT. Seuenewr iITerled DMHD)]

L euwdleasiul L g

pgeestm 67L_19.60 (105> GOILICLM uSley CFwis.

Kannan purchised goods from Raman, for

which thedue dates are given below :

2007 Rs.
iMarch 15 1,000 Due 18th April
April 21 1,500 Due 24th May

5 AF-2260




April 27 500 Due 30th June

May 15 600 Due 18th July

Find the average due date.

& 60T 6UUT68T  6T63TLIGUI L6 6T6v1 6l ifl L L0 (1 15 &)

Qanaipaer CFWLSSHNHSHTNT FolenewsT b a6l

SlevT 6u(BHLOMTD)

2007 e,

wryg 15 1,659 Feuenevst Cxd) erlirev 18

eripev 211,500 seuenewt Cgdl G 24

elgeo. 27 500 seauenewt Cxdl aog~est 30

Zio 15 600 Feauenent Cxdl o~emev 18

gTn&f] Heuenewt HreneT sewrsHsl (Ds.

(Or)

6 AF-2260




(b)

S.No.

Valli has purchased goods and accepted

several bills following due on different date.

Now she desires to cancel all the bills and to

accepts a new bill for the whole amount on

the average due date. Find the Average due

date.

Date of Bills

1.3.2000

10.2.2000

5.4.2000

20.4.2000

10.5.2000

Amoun:

400

300

200

375

500

Term

(in Months)

AF-2260




eusterfl sTevTLIONT GILIT(HLB6W6T &L_68)8(&) ©l&m6iT(LpSH60
Qg SsHGIw OsrTenssE LGoaim wrHN
L aemen gpMI&LlsTeTTLTT. SHCLTG emeud:enen
Fadlel (b L O0wrss CFrmaesEw @@ WIHM
Flyenes #rnefl Seuenewt BIeT (PeOmuled gHS

N HLYADIT. SBKHIEH6T Hevor_Hls.

6. 6T6TDT. LIHNIEE.H — Osrme HT60 Sy 6Tay
Gz (orgmseflen)

1 1.3.2000 400 2

2 10.5.2600 300 3

3 5.4.2000 200 2

4 20.4.2000 375 1

5 10.5.2000 500 2
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13.

(a)

Chandran of Chennai consigned 200 packets
of cosmetics each costing Rs. 600 to his agent
Makesh of Calcutta. He paid Rs. 1,000
towards Freight and Insurance. Consignee
took delivery of the goods and spentRs. 3,400
as clearing charges and Rs. 1,400 as godown
rent. Consignee sells away 140 packets. 30
packets were destroyed zi-the godown of
Makesh. Calculate the walue of abnormal

loss.

Ceenemesierw & “&7HS Shdlrem eTemTLIoUT
B0&GGMeM60 2 bi6n EHAS eTerTLIO(HSHE 200
QuLigassr. 9 p@ srgerl 6lummL&enen
geubleumsuin,id em. 600 6igb enLIli(H Clewigmy.
ST QettTly eUTLews oML &TUST.(H&
Qeeeisepsats . 1,000 GleeedlLmy.
QurmLaer ey Ggeve| ep. 3,400 wHMID
Tl & SMUL Semm eurLens eh. 1,400
SFweapenn Seti@ CQunBr gnms

Qanewor_ny. 140 unsC s (&6 6llmL emes

9 AF-2260




(b)

QewwlinlLer. 30 ursbal(hast wWEasad e
LewTL& sriuenpulled lhg Curuies. oPlng
Cures srs@aefles ergmrewine KL L LD

6T6LUEUEITEY 6TEITLIENGS &68uT5 S (D& .

(Or)

Arun consigned 2,006 tonnes of coal at
Rs. 50 per tonne to Baiu. He paid Rs. 20,000
for freight. Due te-normal loss only 1950
tonnes were received by Balu. He also paid
Rs. 5,000 for unicading charges. The goods
unsold amounvs to 650 tonnes. You are
required ‘o calculate the value of closing

stock.

i ouet etevtLIeu ) 2000 L6tt flevs s flenw (i L6vt
s, 50 efigb UM eTeTUM(BHSE ILLTDH
Qewgr;. UYpnE G mel&asns
eh. 20,00056m5 Gleevey GEWST). &1gMTeswT
LI Gurs 1950 Les Blevssflenw wL (B0

urey CupmSesTeTL . D@ LTey eF. 5,000
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14.

(a)

(b)

S50 DMIS Fnell&ans tlaeey GFLgTy. elnan
gradlen Sy 650 Lengsen Qhg @& Hlemeoudled

Apan grsdles wHlienu sensdl (D s.

What are the difference betveen Joint

Venture and Partnership ?

B emewt NlenenS @, Fnl l I TMTENLDSH G 2 6T6r

Ceumiun(&em wremeu ?

A and B'were joint venture, sharing profit
and losses'in the Ratio of 10 : 9 respectively.
Each party maintains a complete record in his
own hooks. ‘A’ supplies goods to the value of
R5.25,000 and incurs on Expenses of Rs. 500
¢n them and ‘B’ supplies goods to the extent
of Rs. 21,000 and his Expenses thereon
amounted to Rs. 1,000. ‘A’ sell all the goods
for Rs. 70,000 for which he is entitled to

11 AF-2260




receive a commission at 5%. Account are
settled by bank draft. Prepare Necessary

account in the books of ‘A’.

A wpmin B g dlw @ meur Qenewt elicasstwifser.
B meaurg Qeorunl L g wemiHGuw 10 : 9
AGHW. @ ewemw@mbd Zew evoredl em eur
BLAG&HMSOW $55D glinw udle Gsuwig)
eubgesy. A eterieu en. 25,000 wdlliLemen
FT5Hms Qenewellenenh S eulpmiSlesny. WwHMILD
@snars e oLz GFevey eh. 500 gy @Ew.
Wom@e B ep. 21000 willyeten srsens
O ememallemerse eupmdlerny. D@ Seur
B ememralenmisasns Glaug OFeeayser er. 1,000
BGSW. )@ A w5 FréH @S| LD

eh. 10,0008@ elpuener CQawgnty. Wb
@snais A 5@ sfle) ellpuemeruiled 5% oy @w.
A snest Qeanss Ceustrniqw Cgrensenw eumd
RemLp epeold Clae) sl eurmi.

A seTuuB LW L1960 CHTIME &nlg W

wpa&Flwwrer CLUCTL () sewtsams swny CFuwIs.
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15. (a) Guna keeps his accounts under single entry

system. His position during 2000 and 2001 as

follows :

2000 2001

Rs. Rs
Cash 1,000 3,000
Stock 7,000 10,000
Debtors 15,000 20,000
Furniture 3,000 3,000
Creodartors 3,000 6,000

Uuaring 2001 drawings amounted to Rs. 7,000
and additional capital introduced Rs. 3,000.

Provide depreciation on furniture at 10%.

Find out Profit/Loss of Guna.

13 AF-2260




ST FHH &HewIdGHHemen nennl LSley
wpeopuiled LSBg 2 ememny. 2000 wHmL 2001
et sefled eurg elwruny  Hlemew

etTeu (HLommy) :
2000 2001
(W) (W)
Qs 1.CC0 3,000
Fr&d (HLY 7,000 10,000
sLeamaflser 15,000 20,000
SEMD &6V 60T 3,000 3,000
sLefbGxry 3,000 6,000
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16.

2001-60 e1(RLIY emp. 7,000, ga(n36V (Pp&H6ev 2001-6v
Qeesdlwg ep. 3,000 gewmaseven L5g

Gauwiomestd 10%.

&ewtneldlent Qeoruid [ KL L GHlenest g6 H1S.

(Or)

(b) What are the accounts precpared in conversion

method of Single Entrv System ?

@nepl ugle WepUlleT LIHNI (PEOD EPEOLD

SWMHl&a L1 (D15 18 (&S 6IT Wimemeu ?

rart-C (3 x 10 = 30)

Answar any three questions.

A for ¢hv mutual accommodation of himself and
B, draws upon the latter a bill at 3 months for
R&:-2,000 dated 1st January. The bill is discounted
by A at 5% p.a. and halfthe proceeds are remitted
to B.
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B at the same time, draws a bill at 3 months on A
for Rs. 4,000. After receiving A acceptance, the bill
is discounted at 6% p.a. by B who remits half the
proceeds to A. B becomes bankrupt on 31st March
and 25 paise in the rupee is received on'15th May
as frist and final dividends from his esvate. Write

up journal entries in the books of /A.

seg womb B eetueuflet Lewr eusdlsans,
A etettueur gevaufl 1 evim (5. 8,000-&smewr 3 MG
wrIHMIEFenL B stesruiety Cwed erpdlenny. A oib5
wIPMIEFenL euBLSHEDEG 5% eten1 silay CFwig,
Jdev und Garewiww B &@ eliflerns. 9Cs
Crrgglev B em. 4,000 sanes 3 g wrmmisflen A
Guwev etpdlerni. A eom LiLgemeos Glupmiies, B
TGN (@& 3%w-60 &fley GClawg, urdl Clgrensenws
A-&@ eicifeuny. 31 wrj& genmy B Gpmg iy fleneo
oL mhH LT, JeumeneTw 6&nsg) ssefleo
@rEma ep. 16@ 25 ewusnr wl_(Gw G 15 gyem

QLuoliul’ L g.

A g@asfleo @MUCGULBIL udlasanens &hHs.
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17. Prepare Hari’s account current with Ramesh from

the following particulars on 31.3.2000 :—

Rs.
2000 1 Due from Hari’s 1,500
January 10 Sold goods to Hari 1,200
February 1 Cashreceivea {rom Hari 1,500
15 Sold gcods to Hari 1,800
18 Ierireturned goods 200

28 Sold goods to Hari
(due 15th April) 1,000

17 AF-2260




March 13 Sold goods to Hari

(due 15th May) 1,000

15 Cashreceived from Hari’s 400

Calculate interest at 6% p.a.

SpaerL eleurrsefleo @miss 31.3.2000 Cadlwimew
TOWLeY 2 L 60T 68T amsiulien HEDL (PENM 56T em S

FSwflés.

2000 e,

meseufl 1 enfiulib @QmBE Hledeneuwmi

2_6Meng) 1,500

10  eamflaE Qurmst eNlHMS) 1,200
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Gigeufl 1

LIJE

18.

15

18

28

15

anflulllLb @mBg Crrsswn lunmg 1,500

anflé@ Clunmer eNnmag 1,800

anfl Slpullw Clumer 200

anflé@ Clunmer el Hng

(BeuenesT B6T eFLiTev 15) 1,000

anfls@ Glummei6lsna)

(s6euemerst BT G 15) 1,000

anflullL-.m 58 Glrmssw ClunmE) 400

26T (0 &5 C% eul_lqenwl St (H&.

Prem consigned 200 boxes of medicines at Rs. 100

per. box to Ram. He paid insurance Rs. 1,000,

loading charges Rs. 1,600 and Freight Rs. 1,400.

Ram took delivery of the goods and spent clearing
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charges Rs. 1,000, godown rent Rs. 400 and
advertisement Rs. 1,600. Ram sold 160 boxes at
Rs. 200 per box.

Prepare important ledger accounts in the books of

Prem.

NG eTeoTLIGUT TAD 6T6OTLIO (HE (E). 200 Gl 1q &6
D HHSIHen6T 66ublaumesTnD k. 100 6 e
QEwgty. eur sl ep. 1,009, gHmIens &L_L_ewTLd
eh. 1,600 wbomib eueng eunLems ep. 1,400
QeevellLmy. Qur@m.csr ety QFeve| ep. 1,000
LI6TTL_SLIL| S6emm 6xTL 508 eh. 400 wmmib eSlembLiFDd
¢h. 1,600 gpdlweri,ann) rrd gnns6aremny. 160

QUL ig&6T op. ZUS elsb elmueenest QFwwliLIL L 6.

wadHw CuCr_ (& sewrs@aenen LIGTLD 671960 Gwiny

Q&sws.
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19.

Arun and Bala were partners in a joint venture
sharing Profit and Losses in the proportion of 3/5
and 2/5 respectively. Arun supplies goods to the
value of Rs. 10,000 and incurs expenses amounting

Rs. 800.

Bala supplies goods to the value or'Es. 8,000 and

his expenses are Rs. 600.

Bala sells the goods on behalf of the joint venture
and realises Rs. 24,00C./Bala is entitled to a
commission of 5% on s«'es. Bala settles his account
by bank draft. Giveaournal entries and necessary

ledger accounts.ir. thie books of Arun only.

SI(HEwT WML UTeOn @@HeudL @ B enevwr
elemevtuiiev Geomu B L Rigsens (ewmGw 3/5 wHmyd
2/5 e1émin &g sdlev L1158150\SmeEHLD Fol L erflger
Spath, Sj(Hever eh. 10,000 wdlliyemen UL genen
Stigg) eh. 800 Glgeva b Clauwig)ememmi.
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20.

umeom eh. 8,000 wdlliyetem Gun@pLaener yeflgg
¢h. 600 ClFeveyld ClFwig eTenmy.

Qenewr Nenensans CurmLsenst eflHm LTeOT
eh. 24,000 Qupmietenmy. ellpuemenules L5g
LITeONe&@ 5% sLl6| 2 6vuT(h). LIT6OT &6 & 65015 6m S

eumidl 2_evwriquied pevld Cri QFw iy

dAmenflenn g aefled GAALCLI @I udlesenemu,
Comauwnenr CLUCTL (D&, &6ewid@aemenud Swy

OQ&sws.

Mrs. Rani commenrcad business on 1.4.2000 with a
capital of Rs._27.500. He immediately bought
furniture fer Rs. 6,000. During the year, he
borrowed vz, 7,500 from his wife as loan. He has
withdrawn“Rs. 10,800 for his family expenses.
From-tine following particulars you are required
to prepare.Trading and Profit and Loss Account

and Balance Sheet as on 31 March 2001.
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Particulars

Cash received from Sundry Debtors

Cash paid to Sundry Creditors

Cash sales

Cash purchases

Carriage inwards

Discount allowed to-Sundry Debtors

Salaries

Office expenses

Advertisement

23

Rs.

60,500

37,500

50,000

20,000

2,250

2,000

2,500

2,000

2,500
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Particulars Rs.

Closing balance of Sundry Debtors 37,500
Closing balance of Sundry Creditors 25,000
Closing stock 17,500
Closing cash balance 21,950

Provide 10% depreciation on furnitures.

Smwg rrewdl 1.:4.2000 gesim em. 37,500 (pyev
eeugg ey OFrL_mSlesny. jeuf 2 L 6viq Wwins
auraiflu ‘empseeafler wHiy ep. 6,000,
ST L Wl60 euy Feurg LoeweutedludlL Ll (b b S
.- 72500 sLesmasl GuHDIT. Jjeuf Fevg &b L
Qaveysans ep. 10,800 Sl(mwu eSS
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S sewTL eleurmsenens Glamewsr(m 2001 wrjé 31 b

BrGemn( (pigeuenL_ujd yewrign@&GFlw eNwrumy

Qeoru BLL SewtsHensw b bHremerw @ mLiy

Blewevs@nllienuwb swry Clauis.

unueo sLenreflsefl_ @B LN biFrésn 60,500

umued sLeslhbCHTHSE t6n) 558

Qrrés eSmLen e

Qrras GaneT(ps)

2_6MGNS(5E Fn.60]

umues-=i1_estnefl & Eme @ 6flss semEmLig

FLDLI6ITLD

25

87,500

50,000

20,000

2,250

2,000

2,500
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VIV &E ClFev6| a6l 2,000
eflembLiyld 2,500
upHLe sLamellsallen @mid Smiiy 37,500
upHLe sLeafiCsriler @mid @i 25,000
Bmidl srssmuy 17,500
Bnid s Qrrésid 21,950

Semm & 606wt 15 10% CHulbnerd enIndl&s.

skkok
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AF-2261 BCC2C2

B.Com (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Second Semester

Commerce with Computer Application’s
OPERATING SYSTEM

(CBCS—2008 onwards)
Time : 3 Hours Mazimum : 60 Marks

Part - A (10 x 1-1/2 = 15)

Answer all questions.

1. Define Operating System:

SpLILGrLigm fenLan - euenrwimy).

2. Whatis distribuced system?

udligerfiiiy (pevm 6T6aTmmey 6T6sT6HT 2

3. What is meant by deadlock?

ClL_L_eors eTevTLIGEET ClLIM(HET Wimg) ?



What is Semaphores?

QewCumen eTemTm M6V cT6BTEwT ?

What is Memory Management?

Hlemevteus GLoeomewsTENLD 6T6ITMTED 6T6DT6 M 7

What is Virtual Memory?

Qeunjagdeued Hlenerousid ci6vIMT6D 6T6vT6NT ?

What is File?

GamliLy eT6sTmmE. 6108T60T ?

What is'Hiie abstraction?

EMLIEV | LI6NVLG TSHETVEBT 6T6TTMTEV 6T6UTEUT 2
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9. Whatis virus?

EMEUITET) 6TETTMITEV 6TEUTEVT ?

10. Whatis Hardware?

S(HESIWILD 6T6TTMMEV 6T60T6NT ?

Part-B (5x3=15)

Answer all questions.

11. a) Whatdo you unaerstand by Multi Processor?

wevlg Krretev @GNS Bely iMleug wng ?

(OR)

b) “~Describe OS as Resource Manager.

OS-evw epeoliCummenserles Goeonery eTevssm_(His.
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12.  a) What are the various types of scheduling?

SLLauemerluOSg5e0en LeoGoum euens s e

wmemeu ?

(OR)

b) Write a note on “Process lMianagement”.

Qaweowenm CeonssTes d @GNS GNILIL auenrs.

13. a) What do youinasrstand by Memory Protection?

Blemeneig i ungsriy @Nsg HeSr Hnleug wng) ?

(OR)

b) Write short note on Segmentation.

auemaLlIL(NSEIS0 GHNSE GNILIL uenTs.
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14. a) Explain the rules regarding naming the file.

Caruyseps@ QuUWi@D KoL (pewmnulen e
eNlems @ s.

(OR)

b) Discuss about file system reliability.

Cariy wpeonpullen B issgesend GNSg edleurd.

15. a) Explain absut /O system software.

/G Eworb eril QCeur @Msg elens@a ?

(OR)
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b) Write about Authentication.

S5S60146CH0p60 GDIST DTS,

Part - C (3 x10=230)

Answer any three questions.

16. Explain about Time Sharing Cnerating System.

Crru udl sellliy BevL(pron Cswe S L b GNSs

eNlens @ s.

17. State the procedure involved in implementation of

Semaphores

Qewiii v Yyemwliudeerer BenL (W enmuldles e

oM s,

6 AF-2261




18.

19.

20.

Briefly explain various methods of Memory

Management.

Blenereus Cueonemremwulles LevGoumy (pewmulenes

eNlens @ s.

Write about file security and proiection.

Carly ungsniy GNSg acors.

Explain about Modellit'g on Discs.

LOTL_6S1%I 607 168 LM eflernés@s.

— skkok
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AF-2262 BCC3C1

B.Com (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Third Semester

Commerce with Computer Applicatibns
RELATIONAL DATABASE MANAGELTENT
SYSTEM

(CBCS—2008 onwards)

Time : 3 Hours Mazrimum : 60 Marks

Part - A (10 x 1-1/2 = 15)

Answer all the go<stions.
1. Write any two advantage:, of RDMS.

RDMS- 61 penieniesor TCsenib @ resni(® 61(Lp31s.

2.  What is the Exvansion of SQL?

SQL-651 eNiNieun&&LD 6T68T60T ?

3. Write the Standard Format of DATE.

DATE-6én ufibgienrssLiul L enwLienL 61(Lpg)s.



Write any three DCL Commands.

DCL sL_L_enensen e7GCaemId pp6mmy| 61(LpSIS.

What is a variable?

Variable stetimmev etevrent ?

What is an Index?

Index et6t1mmev et6vTOwT ?

Write the Syntax ¢f < 'reating View.

View 2_eun=s.1 uwesu(b Syntax erpg)s.

Whatica Literals?

Literals etesimme erestent ?
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9. Whatis the use of GOTO Statement?

GOTO Statement-est Liwi6sT 6T63T6DT ?

10. Whatis called a Table?

Table e16n1m) Siemp&&ELILIM GG 6T6sT6N ?

Part- B (5x3=15)

Answer all the qucstions.

11. a) Write the parts of Oracle.

Oracle-6tm LGN &6 61(1LDG1S.

(OR)

b) _1Listout the advantages of RDMS.

RDMS- 61 metteninaenen euflengliLi(h&a)s.
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12. a) How can you use the SQL * PLUS COPY

Command?

SQL * PLUS-est COPY &L ememenw steueumm

Lw eI (DS euml ?

(OR)

b) Write the short notes cn» SQL RUN Command.

SQL-est RUN s 6s6m upn) Smi@niLiy euenns.

13. a) Write anythiece DML Commands with Syntax and
example:
aGeimib eesim DML s L_enensefles GlLing) euiqeuld

DML 2_SNTETTLD 6T(LPSIS.

(OR)
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b) Discuss about the “Key words”.

“Key words” upn efleundl&sea]id.

14. a) How can you create Index?

Index-gg steueunm) 2 (Heund@eumil ?

(OR)

b) Write one examzie 10 Renaming the columns of a

view.

View-ev_ epeh column-esr Gluwiy wimmd GlEwiud

(PEODSE @(h 2 Frewwid Glar(H.

15. a)_ Traw the block diagram of PL/SQL.

PL/SQL- 6wt Quing) euenrLLLD 6uenTs.

(OR)
5 AF-2262




16.

17.

18.

b)

Write the Syntax of FOR LOOP Statement. Give

one example.

FOR LOOP Statement-esr Qg euiqauld 61(pgis.

Q(H 2 Fnrewid Gar(m.

Part - C (3x10=30)

Answer any three questipns.

What is Oracle? Comparew.th DBMS.

Oracle eteimmev et6oran - DBMS 2 161 il (0.

List the forma‘ting commands used in SQL*PLUS.
SQL*PLUS-¢5 format Qewiw 2 geab sl Lenengenen
auflengli iS58 5.

Wirite the Syntax to creating Sequences and explain

the Syntax.

Sequence-g 2 (heuns@Geugnanes Syntax e(pgis.

Syntax-est euflsemer ellend@s.

6 AF-2262




19.

Create the following table using the SQL Statement

Column Name Data Type
Client No. Varchar 2
Name Varchar 2
Address Varchar 2

Size

20

30.

Spanemid SQL Statemeriv-60 9iL_L_auenewst 2 (Heuns ).

Column Name Data Type
Client No. Varchar 2
Name Varchar 2
Aldcess Varchar 2

Size

20

30.

AF-2262




20.

Write about the Relational Data Model.

Relational Data Model umn etpais.

skkok
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AF-2263 BCC3C2

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Third Semester

Commerce with Computer Application
C-PROGRAMMING (THEORY)

(CBCS—2008 onwards)
Time : 3 Hours Mazimum : 60 Marks
Part - A (10 x 1-1/2 = 15)

Answer all questions.

1. Whatis a Variable?

Variable stetimmev erevisor -

2. Aglobal variabieis also known as ................. variable.

Global variable-g ................. variable eremrmiid

SieoP&HiLBE D).

3.  What is the difference between While loop and do while
loop?
While loop wpmidb do while loop @newwrigm @

Ben_Guuwnes GeumyLin(® eTevTent ?

1



What is an Array?

Array etetimmev eTevT6NT ?

Write any three ANSIC keywords?

aGaanib epeormy ANSIC keywords e171y¢;is.

What is a pointer?

Pointer steoimmev et6vtent 2

Write about the 1.akels?

Labels upy) ewpais.

What is the use of Strlen function?

Strlen function-est Lwebt etesToRT ?
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9. Write the Syntax of if...def function?

if.....def function-ewr GlLingy eulq6uLD 6T(LPGIS.

10. What is Register?

Register etesrmmev etevstent ?

Part-B (5x3=15)

Answer all questions.

11. a) What are the ruies Jor naming a variable?

Variable-¢& Quufl Lwestu@wb eXl&lser stestest ?

(OR)

b) Write short notes on C Keywords.

C Keywords upn) &mi @il euenrs.
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12.  a) Explain the Nesting if statement.

Nesting if statement L) eflend@s.

(OR)

b) Discuss about the Boolean Values.

Boolean Values upp eSnnidlésea]b.

13. a) Write the Syniax.and example of Printf and

Scanf functien?

Printf wmmnib Scanf function-ew Glung euigeuwd

OHMIL, 2" FTTesTLd 6T(LpS) 6l 6m8EHs.

(OR)
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b) Explain the C Library function?

C Library function unn edens@s.

14. a) Write a short notes on period operatorc?

Period Operators upm Sl @1y euenrs.

(OR)

b) Explain the Str:py-and Strcat Statements.

Strepy oo Strecat Statements-gg eNlens@s.

15. a) Wkhatis a C-Processor? Explain with example.
T-Processor etesimmed eTeutent ? 2 & M1y 66315 L 60T

eNlens @ s.

(OR)
5 AF-2263




b) Discuss about the get C and put C function.

get C wpmib put C function uml eleundlsseaywb.

Part - C (5%10=30)

Answer any three questions.

16. Write the special features of C'Pregram.

C Program-e fipliL| S|b&isamen e1(LSIS.

17. Explain the else.... £ aid nesting if statements?

else.... if opmu nesting if statements up ) eleng@s.

18. Discuss anout the Functions.

Fuuctions upn) eSleundlageayb.
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19.

20.

What is a Pointer? Write about the concept of

Pointer?

Pointer etesimmev etevtest? Pointer-enn samisen upm

61(LDSI 5.

Write the miscellaneous features ¢ C language ......

C Qurulles BT S| DFRISET ST 6T(LPSI5.
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AF-2264 BCC3C3

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Commerce with Computer Applicatiouns

BUSINESS STATISTICS

(CBCS—2008 onwards)
Time : 3 Hours Masrimum : 75 Marks

Part A (10 x 2=20)

Answer all the questions.

1. Whatis classification ?

aIensLILI(HSS6V 6T68TL Sy 1LMG] ?

2. Whatis secondat y-Data ?

BreverL_mb Hleneo 660 6T6rTLIG) WING| ?

3.  Whatis®Medium ?

BenL_Hlemev 6ma eT6vIMTED 6T6TTEN ?



Write the merits of quartile deviation.

anevlonest elevsasSlen Hlewnaener 61(LpGI5.

Define Karlpearson co-efficient of correlation

anjev wisen L_(Hne| Claspemel auenyu-m.

Define Regression :

Qar_iy Car( euenrwim).

State the condition for univtest.

3085 Careys@ i MUibsemerenw gom)l.

Write any twe-uses of index number

SO Tessraerflen e71CaemIDd B)\(HLIWESTSED6T 6T(LDSIS.

Wriwe the condition for draw a trend line in the graphic
method.

auenruL (Wweopuled Curs@HaCan( euenreusmnsme
Bupgenen &.n)
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10. Write the components of time series.
sneowd &y CGTLj euflensulles gnmisener 61(LHG).
Part B (5 x 5=25)
Answer all the questions.

11. (a) Write the characteristics of a goou.questionnaire.

(&) @M BeVew NETTSSIET (PN NG LI6TITLIS 6w
6T(DEIS.

(b) Draw on suitebl: diagram to represent the

following daxa.:

Item Family ‘A’ Family ‘B’
Food 240 300
Clathing 160 300
Rent 80 200
Other expenses 200 400
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2

Qunmesi &@wubn A’ &@u ‘B

2_6u0T6Y 240 300
glewf] 160 300
UML_6M& 80 200
Bg1 QFeve g6 200 100

CunaeT eNleUTmISEhHSHE@) & eUeNTLIL HIGEn6I

QUEDTWIGLD.

12. (a) Calculate the modea

Annual profit 1029 20-29 30-39 40-49 50-59

(Rs. crores)
No. of companies 12 15 16 17 10

&(ThHL_ 60MLILD 10-19 20-29 30-39 40-49 50-59

Bmieuetiiaserflew 12 15 16 17 10

6TETBTLH H6M&S

Cunaewr elleurmsensE (Wab sewrssl(Hs.
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13.

(b)

(a)

Daily earning in Rs. (x) of 10 coolies are given
calculate all the three mean deviations and the

corresponding relative measures.

x : 32 51 23 46 20 78 57 5637 30

uSg gnedaeflen Henefl eumwrenin Rs. (x)-60
QasrMH&s UL (b eTeren oL GBT M) grngfl
Mevssmasmenwd sl Cgrfume

|6 EHEMEMULD &H6vuTSH £ S.

x @ 32 51 23 45 20 78 57 56 57 30

Types of correlation with suitable diagram

SSBS wOTULSH LT @L DD 6U6n&s e

eNlemois.
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(b) Calculate the two regression equation from the

following data
x = 10 12 13 12 16 17
y = 40 38 43 45 37 43

Also Estimate y when x = 20.

x 10 12 13 12 16 17
y = 40 38 43 ~a5 37 43

Copaserr efeurricscflen Qrevor(n O miyy

Car(p swstuT(H&ensTud Sevst&dl (D s.
Coeyd x = 2C-eearmGurg y-es1 wSllewu

wHUINO S

14. (a) CalculawcFixed Base and Chain Base Index numbers

Year S0 1995 1996 1997 1998 1999 2000

Price (Re) @ 20 25 30 33 44 55
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Bleneownesr wHMID QST SjgLliven GHMui@m

6T6TITS6D6TT G6T0TSHS (N 5.

21,6907 (D)

alemev

1995

1996 1997

25

1998 1999 2000

55

(b) From the following data calcuiate price index number by

(a) Paasche’s method (b) Fisrer's method.

Commodity

L\

Base yeai
price
12 40
14 50
16 20
18 10
10 10

Current year
price  quantity
16 50
18 40
19 30
16 20
15 20
AF-2264




Yesreupd efeurmisefledmhagl (a) umigfav wHmID
(b) Wewiy @GNMUIL_ () eTevuTHED6T SH6TUTEHRS (HS.

Qurmer  IgLitenL et  Hlapeunes(p

Mewed  jemey flewev  iamey
A 12 40 16 50
B 14 50 1R 40
C 16 20 19 30
D 18 16 16 20
E 10 10 15 20

15. (a) Fitthe treaiine and estimate the trend values

Year : 19521993 1994 1995 1996 1997 1998 1999

Value:47 53 50 46 41 39 40 36
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F5&bS Curs@Gar wHmL CursE Car (@

wSlliGenen SpsaewT NLTRISEHSHE ST6vr.

JEYRE 2 (G 1992 1993 1994 1995 1996 1997 1998 1999
iy : 47 53 50 46 41 39 40 36
Or

(b) Calculate the season indices by ratio to removing average

method

Year QI QI “~.QII  QIV

1993 30 | 62 119
1994 33 104 86 171
1995 42 133 99 221
190« 56 172 129 335
1997 67 201 136 302

9 AF-2264




16.

17.

Umeud G GO ervmsenet Mg
Quss srmefl (pewpuled &mevor.

et QI QII QIII Qv

1993 30 81 62 119
1994 33 104 86 171
1995 42 133 99 221
1996 56 172 129 235
1997 67 201 136 302
Part ¢ (3 x 10 = 30)

Answer any thize questions.

Explain the types 1 diagrams and their user

QUEHTUL BIEO ST  6UMSHEMETW D 3 6umnles

LuwessemeT elleulfl.

Calcrate the standard deviation for the following data

Classinterval : 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 6 5 15 10 5 4 3 2
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Spaevi NLITRISEHSHE SHTelevssd sTestes ?
Classinterval : 5-10 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 6 5 15 10 5 4 3 2

18. Write the difference between coirelation and
regression ?
L (e womib Gy Geuniu:rO\sensT 61(LHSIS.

19. Compute Index number using Fisher’s ideal formula and

show that it satisfies time.roversal test and factor reversal

test
Commodity Basic year Current year
quentity price  quantity price
12 10 15 12
B 15 7 20 5
C 24 5 20 9
D 5 16 5 14

11 AF-2264




Nesiev Puwe GS5HArsms LwaruBSS
&GN etevor Hnever. Coeyd @emeu  Time
Reversal wmmiib Factor Reversal Test-&@wb

QurmBEID sTerrsar(H.

QummeT Sgliuen el  Hlapeusswr (D

oleme] elemed  6mey &l 6w 60

A 12 10 15 12
B 15 7 2¢ 5
C 24 5 20 9
D 5 16 5 14

20. Calculate the seasonal inidices by the method of link relatives

for the following cata

Quarter Quatecly  Figures For Five Year

1983 1984 1985 1986 1987
I 45 48 49 52 60
1 54 56 63 65 70
I 72 63 70 75 83
1\% 60 56 65 72 86
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LUmeud Geo GMuTL (B eTemsTenemt OQGmLi
2 me| (peornulled &mevur.

&6V et (h B sl sreomesur(h
yererfl edeurid
1983 1984 1985 /1986 1987
I 45 48 49 52 60
I 54 56 63 65 70
I 72 63 70 75 83
v 60 S€ 65 72 86

kkok
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AF-2265 BCC3C4

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010

Third Semester
Commerce with Computer Applicatiouns

ADVANCED ACCOUNTANCY —-111

(CBCS—2008 onwards)
Time : 3 Hours Masrimum : 75 Marks

Part A (10 x 2=20)

Answer all the questions.

1. What do you mean by Flucinating capital ?

LINLGID PS5V 6TesTLIgy MDD 2 oG HHSSH WG ?

2. What is Profitend Loss Appropriation Account ?

Qoo Bt L1 LSlT6 S H6w5T8(E) 6T6ITMTEV 6T60T6uT ?

3. Whatic New Profit sharing ratio ?

yHw Qeoru udlie| N0 sTet1mMEL 6TEBTEN ?



What do you understand by the term Goodwill ?

‘BOOILIWT’ etestn LG LDM BT B HBSSH wWg ?

What is Memorandum Revaluation Account ?

G&DILY NS (H& 561 @) 6T6TDTED (T6w 68T ?

State the meaning of Amalgamation.ofFirm

Bmieuen epemlemewwriiL sTestLIsam QALinHensT GOILLBH\s.

Give the meaning of Disselution of Firm

Bmieuens semevLiL eTastinest ClUMmeT &(hHs.

What do you mean by sale of firm to a company ?

Bnieuengma Hniwsdng eNpuenen Glawieug ereLg)
umml 2525 SMHSH Wng ?

2 AF-2265




10.

11.

What is Piecemeal distribution ?

jeueuls Guremgw LFlTey eTaaTmTeL 6T6sTEN ?

What is Realisation account ?

$768 &6vv18(8) 6T6TMT6V 6T6TTEH ?

(a)

Part B (5x5=25)

Answer all questions.

X and Y share profits and iasses in the ratio of 3 : 2

and from January 1, 2062, they admit Z who is to have

1 . .
8 share of profit with a guaranteed minimum of

Rs. 25,000. Xand '/ continue to share profits as before,

1
but agrev:to-guarantee any excess over 5 of profit

going*o ZZ in the ratio of 4 : 1 respectively. The profits
of *he firm for the year was Rs. 1,20,000.

Prepare a Profit and Loss Appropriation account.

3 AF-2265




(b)

618610 LOHMILD 611 GeomLl BL_L_risener 3:2 elflgssle0
udling Oarendlemmesy Coeyd 2eweufl 1, 2003

1
Sem Qeugser ‘&’ eteLIoIED] Eur:'ua%]g')@

eh. 25,000 @ewnBHg L& QeorL 2 S reungga) L e
Fnl_L mevoremoulled Cermhgs GamewL ony. ‘ersen’
wHnIL U Werlldphs uUgGw @iy udlieneu
QBTLTHS6euTy, pevmed ‘@&’ nE) . dlenL_&@Lw 8
umdlng Wenswrauemg . 41  dzgsdle
apmIs6aneTen LIS Glgworewi. @ eueurent(H
Beomuid em. 1,20,000.

Qeoru pLL udliel &/ (@& swnflées.

(-

Write up the capital and current accounts of the
partners A'and B from the following :

A B
Rs. Rs.
Capitaion 1.1.2004 40,000 35,000
Current accounts on 1.1.04 (Cr.) 200 100
Drawings during the year 2004 8,000 7,000
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A B

Rs. Rs.
Interest on drawings 200 100
Share of profit for 2004 4,200 3,300
Interest on capital 6% 6%
Salary 3,600 Nil

Speimb eurb Camemtih.o LONIL 9 eTeoTm

ga.L_L_nerflaerflett (6w omayn BL_LIL|S &6u5T18:ESem6r

FSWfl&s.

) .

) )
01.01.2004-6v (&6 40,000 35,000
01.01.04-60 B'<L.L|5 560018 & &6 200 100
6T(OLIL&ET {HL_LILIMT6TDTIq60) 8,000 7,000
(@ LiiTiee: 15g) euL_lgq 200 200
BeomuiLs LIk 4,200 3,300
(P60 185 el lg 6% 6%
FLOLIGTLD 3,600 Nil
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12. (a)

(b)

Akila and Banu are partners sharing profits in the ratio
3 : 2. A new partner Chandra is admitted. Akila

1
surrenders gth share of her profit in favour of

2
Chandra and Banu gth of her share i1 favour of

Chandra. Calculate New ratio

Sfleon wHMID UTe eTeoTLial 3 : 2 eNldlgs5Hle0
Beorurisenst LE(HLD so ot _meflaen. hdlom eterm
yHw gal L mefleow C=i,z8 Glanewreny. idleor

. a1 s AL 2
Uy umslev g-lo ATew| Ui LkiEled g-m

ghdlrrelpans Frewr Gewgery. HySlw ez

&6u5T&:& (D55

Or

AsRand C are partners sharing profits equally. They
aamit D in to partnership for % th share in the future

profit. D is to bring in Rs. 9,000 for goodwill. No

6 AF-2265




13.

(a)

goodwill account appears in the books. They withdrew
half of the goodwill. Journalise, the transactions

related to Goodwill.

&7, 9 wPow 8 HACWF F Ny s 1_Lreflser.
Qeursen ‘i’ eTesTLIOUEDT % UBISlNG ol L mevor
eowuler Corss s Camewieni.w ‘Iq° eTeTLIeT
BHOLWHSSNS ohH. 9,000 Glj:seons G&rewwr(H 6uy
&y sewisCs a6t 6o BHoILWT 678)L0l6v6mev.
Beugsst pHOLWA LTblimW a1BSHEF CeeTner.
BHOLWT GNSS Bl ey sendsenst @GHNILGLL 1q60
udls.

A, B and Cwwere partners sharing profits in the ratio
5:3: 1. Avetires from the firm Calculate the new

Profitz skaring ratio and Gaining ratio.

T, 8 wonid d HHCGury 5 : 3 1 1 Nflssdleo
Peomurisenen LE(HLD Fal L neflasr. e ellevasedlest
QurpL@® ydw Ndlsn wHMID HPsTW NEH0

SM655T5.
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(b) XandY were partners. The partnership deed provide

interalia that

(1) The accounts be made upto December 31 each year.

I, 1
(ii) The profits be divided as follows : X: . ¥ '3 and
1 )
reserve .

(iii) Inthe event of death of a partner, ii's representative be

entitled to
(1) The capital to his credit at.fiv2 date of death.

(2) His portion of the reseive at the date of last Balance
Sheet.

(3) His portion oi prof.ts to the date of death based on the

average nrofifs of the last three completed years.

(4) By way of goodwill his portion of the profits for the
thiee preceding completed years. On

>1.12.2003, the ledger balance were.

8 AF-2265




Rs.
X’s capital 16,200

Y’s capital 10,800

Reserve 5,400
Creditors 5,400
37,800

Rs.
Stock 18,000

Bills receivable 3,600

Investments 9,000
Cash 7,200
37,800

The profit for 3 years ywerc 2001-Rs. 7,560;
2002 - Rs. 7020; 2003-Rs, 100. Y diedon 1 . 5. 04

Show the Account of ¥ ’s =xecutors.

X womid Y. 250wy gnLneflgem, &nil L _mewt

O LUN 6T FT5,T S &6 SLP6 (HLOMM).

(1) oo asst @eaiblounm opevT(W &ELUT 31 eueny

6T SLL(ILD.

(i) Georuts udliey Adsb eided - Y, @u - ¥

DOHMILD STLIL %
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(iii)

(1)

@@ galLmafllllen @mUifen Glumpg jeuisD

eunflassens@ Cor Couesriquiene.

By Caduen el semsHe QBHS (LS.

(2) sLBs @muY Hemevs @GnlliueTm 2 et sridleo
ST LIGIE).

3) sLBs werm WP pewTiger ErrEfl @eomu
SlgliuewLuled sewsHlL il @pluetm
euenrulleonest QeomLISSH 60 HeLT LIk

(4) 81.12.08 genmy sumwyulleomsst e 6ot m mewst (b
Beorugdled euig o im@ BHGLwrTs. CuGrL(H
B mULseT ST L)

o erb.

6185610 - 63T (LPGH6V 16,200 &r&dlrliy 18,000
€ WLI- 63T (LPS6V 10,800 QumsHE AW

wrHnIEFL_ (B 3,600

&L 5,400 (pseShsen 9,000

SL_6vlE (s iy 5,400 Olyrss 7,200

37,800 37,800
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ppermrent(h Peorumsener 2001 - em. 7,560;
2002 - em. 7020; 2008 - ¢m. 8,100. 01.05.2004 9y6v1m)|
QW @nhgedl L.

QW euiserflen eunflassr seues sl (Hs.

14. (a) The Balance Sheet of K, M and L who vrere sharing
profits in the ratio of 3 : 1 : 1, stocd“as follows on

31-12-06 that is the data of dissolviion.

Liabilities Rs. Assets Rs.

Creditors 1,05,000 < Sendry Assets  1,09,000

Capitals: K 15,008, L’s capital 21,000
M 10.690

1,390,000 1,30,000

The assets realised Rs. 79, 750, realisation expenses
were rs. 2,000. Prepare necessary Ledger accounts

assuming that all partners are insolvent
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G, 61d WHmILD 6160 e AGWNT 3 : 1 : 1 Hs5H60
Beorrsemer LML snl Lreflsefler 31.12.06
ColllL, semeoiiy, Cadl, @muy Henes Gmliiy
SLpauHLOTD).

ummyLiyger erp. ClFns g5 56T erp.

sLeihGxry  1,05,000 umueo
Qensgie.ner  1,09,000

oo : Ges 15,000 e~ (v 21,000

eo 10,000

1,30,06C 1,30,000

Rensgaacilet ellpmieure| em. 79,750, Sie & CFevey
eh. 2,000 31606515815 Fnl L neflaenn Clnbmgsgeuiy

16518 nemever () CLCGr( swnflss.

Or
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(b) R.S and T share profits in the ratio of 3 : 2 : 1

on 31-12 -04 their Balance Sheet was as follows :

Liabilities Rs. Assests Rs.
Creditors 12,000 Machinery 25,000
General reserve 3,000 Stock 11,000
Capitals: R 20,000 Debtors 9,500

S 15,000 Gooiwill 13,000
T 10,000 Cash 1,500
60.600 60,000

On the abowe cate, the firm dissolved. The assets except
cash rezliszd Rs. 60,000. The creditors were settled
at Ri:-11,500. Dissolution expenses amounted to

Rs.600. Give necessary Ledger accounts.
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7. 616 WHMID 1g. HFHCwry 3 : 2 1 1 eldlgsSle0

Beorurisenet LS (B Fnl_Lneflaer. 31.12.04 ojemm)
Beaugaseflen @@L Hlemevs @Gl Speumommy.

QummyLiyger
sLesbCHT
Qurgisamiy
G Y

61610

19

eb.
12,000
3,000
20,000

15,000

10,000

60,200

ClFns g5 56T

BupSlyd
gr&dlmLLY
BL_6vTT6r B 6
BHO ity

GiIrTSsID

eb.
25,000
11,000
9,500

13,000

1,500

60,000

Cunaadlu Gapluled HElneuesTd Hme0ssLIUL L g).

Qrmas HelafHE WHD CFTSHEH6T NDM 6uTe]

eh. 60,000. sLafbCsry ¢p. 11,500 Gamevn ()

Sreauul L g. semeolys Qaevelser en. 800.

G meuwnen CLCTL (D& SH6w18@HBm6T H([HS.

14
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15. (a) Write anote on Maximum Loss method of Piecemeal

distribution.

SeuauliGurengw udlyellesr 2 UL BLL (pedD

LB @m GHBILIY alewrs.

Or

(b) What are the various method st calculating purchase

consideration on sale of firm 7
Bimeuen elpuenesmidiey QaTeT(LPGHeD DM LIW 6T
S6suTHS (DD (PewMSH6 WTemeu ?

Part C (3 x10=30)

Answer.aily three questions.

16. A and B storted a partnership business on 1. 1.05. They
contribuied Rs. 1,60,000 and Rs. 1,20, 000 respectively as
their.capitals. The term of partnership deed were as

follows :

(1) Interest on capital and drawings at 12% p.a.

15 AF-2265




(i) Aand B to get a monthly salary of Rs. 4,000 and 6,000

respectively.

(ii1))  Sharing of profits and losses will be in the ratio of

their capital contribution.

The profit for the year ended 31. 12. 05 befor= v aking above
appropriation was Rs. 2,00,600. The Drawings of Aand B
were Rs. 80,000 and Rs. 1,00,000 respestively. Interest on
drawing amounted to Rs. 4,000 fa+ Aand Rs. 5,000 for B.
Prepare Profit and Loss appror:tation account and Capital

account under Fixed capital m¢thod.

&7 wHMID 19 1.1.05 600! Q(H Fal L TevoTenld ewmLmyLD
Qar_mdleny. Llajset ppevgenns GFa)ssHw g
penpGui em. 1,530,500 wHmiw em. 1,20,000. gal_L_messiening

ETSSISSH6T SLPCA(HLOMM).

(1) = woHmD erLIS6 g euLlq 3y 6ETTOL_T6sTNIS5E)

12%.

(i1) e wHmD 19 Qum Geusvoriqws G 2erHuibd (WenmGuws

e. 4,000 wHmitber. 6,000.
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(i) s yefliy NfasHer Qeoru BLLBisemeT
N Sa50 SmeTeug).

31.12.2008 2_L 61T (Plq6uemL_W{LD 246057960, GomLilg
FI5FHSEHHEG (PHewsw Beoruwbd em. 2,00,600.
e wopniw 19 HHCwrflenr e@LysT wWeopGuw
em. 80,000 pHmith em. 1,00,000. @ear 185 el iq
e-edim@ em. 4,000 Guoeyw 9-ulm@ em. 5,000.
Qeoru BLL LTS HewTES,. Singl Hlemed (LpSed

(PODUNED (PSHEVSET BT (7, &l Ml &

17. Tand J were in partnership shuring profits in the ratio of

3 : 2. Their Balance Sheet 01 30. 6. 04 was as follows.

Liabilities Rs: Assets Rs.
Capitalaccount I _£0.500 Machinery 20,000
& 45,000 Buildings 25,000
Creditors 25,000 Furniture 6,000
Stock 15,000
Debtors 30,000
Less
Provision2,000 28,000
Cash 26,000
1,20,000 1,20,000

17 AF-2265




They want take K into partnership subject to

following :

(i) K pays Rs. 25,000 as capital for %™ share in the

business.

(i1) Machinery is increased by 20% ang building be
reduced to Rs. 20,000.

(iii) Provision for doubtful achts be increased to

Rs. 3,000.

(iv) An item of Rs. 2,000 ncluded in sundry creditors is

not likely to be ciairnzd.

(v) Certain investments to Rs. 13,000, not in above

balance skzet, be brought into account.

Show the Kevaluation Account, Capital Account, and Balance

sheet
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o woniw Cx HHACWIT @I ol L Temrenwuliled

Beorurisener 3 : 2 ldlgsdlev LATHG CaTeTdlenmeuty.
Beursetflenr 31.06.04 CaHulllL @@Ly Klemevs @mlLiL

SLpauHLomm) .
QummyLiyger erp. ClFns g5 56T erb.
P sems@ @ 50,000 @uidrb 20,000
Gzg 45,000 &L L misen 25,000
sL_evithCH iy 25,000 weneTweneiuimgsT 6,000

Fr&E (L 15,000
&L.e5 ifleem 30,000

s 0a% :
2816@ 2,000 28,000

bIFT&HSLD 26,000

1,20.C00 1,20,000

BQeaugser Goy eicTueueny SPeu@HD FrHHSH&H6TL I

Fnl_L_nevsTenLoLiev Caisg)tlaemem el (mLNesty :
(1) em. 25,000 woeors 4 umdng ‘Gs’ Oea)yss
(au6ssT(HILD.

(i) @rSlrb 20% wHUCLNHMD CFwIwGaiestT(HIb GoeYbd
sLLLmsem eh. 20,000- m@E GODSSLILL

GeustoT(HILD.
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(iil) eurrrnws sL6m @&H&SE eh. 3,000-N@E 2 wiss
Geustor(HILD.

(1v) sLefBECarfleo 2 6men @ ¢5.2,000 QFe)s5s
Ceuetwtiquil(mhaasng).

(V) eALYLL @m WaeShssT eph. 13,000 Cumnammlw

@muy Hlewevs @Gnlltled eveonginel semiadled
Q& nevst(h eurGeuesoT(HILD.

LOILS LSO HewEG), (PH6) &eEwT&HE), WLHMID
@y fenevd @niLiy srl (e,

18. Sundar, Suresh and Sankar were partners sharing profits in
theratio of 3 : 2 : 1 respectively. On 31.3.2008 their Balance

Sheet stood as follows.

Liabilities Rs. Assets Rs.
Creditors 1,90,000 Cash 25,000
Bills payable 50,000  Debtors 1,60,000
General Reserve 1,20,000 Less

Capital: ~ Sendar 4,00,000 Provision5.000 1,55,000

Suresh 3,00,000  Machinery 430,000
Sankar 2,50,000 Premises 4,50,000
13,10,000 13,10,000
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Suresh retires on that date on thefollowing adjustment :

(1) To raise reserve for bad debts by Rs. 19,500.

(i1) Good will of the firm is to be valued at Rs. 1,80,000

(iii) To depreciate machinery by 10 %.

(iv) To increase the value of stockty 25. 30,000.

(v) To increase the premises ‘vaive by 10%

Sundar and Sankar decided-t¢=write off firm’s goodwill. The
new profit sharing ratio i=.5+2 Prepare Revaluation Account.

Capital Account, and balaiice Sheet.

&hsT, &Crey womiw smsy HAHACwry Georumisenst
3:2:1eM8lgg58l60 LSl gn_Lmeflger. 31.03.08 oyerm)
Beauseri'en QLY Hlemevs @GMILIL Speumommy.

Qump i g6t (.  Clersgsaen €.

aLevltbCamy 1,90,000 Glyr&sLd 25,000
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QUL g6 (.  Olesgsaen €.

AENEETEINGT sLevmerflaer 1,60,000

IHnIFE B 50,000 &Ll&s : aIHE 5,000
1,55,000
QLngSamiLy 1,20,000  &radlmLiiy 2,50,000
(paeoseT:  &BET  4,00,000  Qundnb 4,30,000
&Crey  3,00,000  euemmELd 4,50,000

gmisy 250,000

13,10,000 13,10,000

#Grey @b QrhosslasdHuler 6lawiw Geuessrig

&f58L_(DSH6056.

(1) eurmssLetm. epZis@& eh. 19,500 60 2 wWiSHLILIL

Goustor(Hlis:

(i1) Hmyeeas O LWET em. 1,80,000 etesr AN L1l
(gb‘ac %)T@Lb.

(ii1) Pundrnd 10% Gsuiwrend erpsLiLiL_CeuemtBIb.
(1v) srsdl@mLuy em. 30,000 60 2 WiSHFHe D

(V) euenmagglen wSlliL 10% 2 wFSHea|wb.
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&hST WOHMID FRIST Fhse Hneiasse BH6ILWeT

Cursbasws wue Ceugery. yHw edgn 3 : 2.

LHILHLTH sWTSHEG WPSO HewsE, DmLLY

Blemeva@miLiy swnflss.

19. Following was the Balance Sheet of Aand I3 0n 31.3.2007

Liabilities Rs.

Current liabilities 30,000
General reserve 36,000
Capital: A 1,00,00¢€

B 64000

2,30,000

Assets Rs.

Fixeaassets 1,00,000
Stock 60,000
Debtors 25,000

Reserve 1,000 24,000

Bills receivable 20,000

Bank 26,000

2,30,000

P Lt acquried this business on the above date on the

following terms :

(1) Fixed assets to be valued at 20 % more than book value.

23
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(i1) Stock to be valued at 90 % of book value.

(iii) Reserve for bad debts to be 10% on debtors.

(iv) The purchase consideration was to be settled by the

issue 0f 20,000 equity shares of Rs. 10 each valued at

Rs. 12 each.

Pass journal entries and show the1.2ager accounts to

close the book of the firm.

31.03.2007 gjevtm) 67 womyd L9 2ulGwimfles GpLiL Hlemevs

G&DILY Speumommy).

QuInmyL1L g6 )

BLLILU Glummiiger 29,000

QlLingys sy 36,000
(PSEVS6T : 6 1,00,000
O 64,000

2,30,000

24
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Cr.

HlenevgClatggigsst 1,00,000

A 60,000
sLeunaflgen25,000
Sy 1,000
24,000
CLNISHE
IHnIFE B 20,000
eumi 26,000
2,30,00
AF-2265




SLpeu(md F15gIEs6T Lig. ConLig. Cadlulled @iiniaengemns L oSl

UM &0\ TevvTL_g) :

(1) Hewevs Qanggisasn g6 gl wIHledmBE 20%
s faaa L.

(i1) sr&dlmuy @ wdisled 90% erew S ILSLayb.

(ii1) eunmsaLew &1Ly sLevmelser s 10% eTevteyLb

(1v) aeor em. 10 odLiLjeerm 20,000 =1u JBI(SSEHT 60T ¢lh. 12 6T631M
w6 Ceusflulll_® (olcTeT(pSe0 WMILILIET &6vTdHE)

Srsaliu Ceuesor(piLh.

Bmieuer g &etie0 @MNUGCLL (B LiSleysen sigin CLCT_ (D&

S6VUTE G HUTFISSILD 67(DSHENET (LPlgH&e]LD.

20. Explair tierules laid down in Garner Vs Murray case.

aieoi; SIS (WPTCT euLpsE@ epeod @ L’ 1 eNllaenst elens@s.

skkok
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AF-2266 BCC4C1

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Fourth Semester

Commerce with Computer Applicatidons
E-COMMERCE AND INTERNEY

(CBCS—2008 onwards)
Time : 3 Hours Mazimum : 60 Marks
Part - A (10 x 1¥%=15)

Answer all questions.

1. Whatis E-Commerce?

Blevt 61 6wfl a6l w160 675 M6V 6T6BT6VT 2

2. What do yov'mean by Media Convergence?

Media “Ccnvergence- etentLigent GlLm(bel wing) ?

3. Whatis WWW?

WWW sereormmev etevtent ?



What is EPS?

EPS e1es1mmev e16v1601 ?

What is EDI?

EDI stetmmmed sresment 2

What do you wunderstand by supply chain

management?

Supply chain management @nsg Belr oinfleug) wing) ?

Define Internct.

B enemTUISATLD sUemTUIMI.

Whatis port number?

GuimyL eT6vuT 6T6BTMMEL 6TEBTENT ?
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9. Whatis DHTML?

DHTML - etestmmev etestent ?

10. What is Java Script?

Java Script etettmmev erevTewT ?

Part-B (5x3=15)

Answer all the ¢uestions.

11. a) Explain about I-way components.

I-way 2_miligest &Hl58 eNlens@s.

(OR)

b) . What are the equipments used to access the

network?

Network-emw access Qsww vweru® GG D

s medls6i wing) ?
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12 a) What do you understand by Hybertext

publishing?

Hybertext publishing @nsa Beir oinfleug wng ?

(OR)

b) Explain smart cards.

Smart cards upm) sllsme, gs.

13. a) Explain the »ale of EDI in E-commerce.

Wlewr-eusonfl el wedleo EDI-ufest Likiflenen eSlemnd @ s.

(OR)

b) State the features of Corporate Data warehouses.

Corporate Data warehouse-ullesr SipLiflweosemen

FoM)|S.
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14. a) What are the various Hardware requirement of

Internet?

BememtwgensSlen LieoGeum) auenswitest anmiHGeur

Caemeusst wing) ?

(OR)

b) Write short notes on Weu - pages - protocol.

Web - pages - protacol @sg fm @HlLy euenrs.

15. a) Whatis Styie Sheets? What are its uses?

Style Sheets stetrmmev 61651601 ? HFH6OT LIWETTLIM(DISH 6T

WTaO6M ?

(OR)
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b) How do you create simple Java Script?

eraflenbwnesr  Java Script-esw  eteueumrmy

2_(IHeUM&G)EU L.

Part - C (3x10=30)

Answer any three questions.

16. Briefly explain the varicus applications of

E-commerce.

Wlewr - euemflaafwedlen iavBeum) LweLIT(HSBEn6T eSleufl.

17. Explain about credit card based EPS.

sLen Ll enihg EPS @ss elens@s

18. Dizcuss about EDI software implementation.

EDI software implementation @ngg elleuns).
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19.

20.

Write note on Internet Service provider.

Internet Service provider @ns& @il euenrs.

How can you use Java Script with Style‘Cheet?

Java Script-esw Style Sheet-<_Lieor eteueumm

Lw eI (DS euml ?

kskosk —
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AF-2267 BCC4C2

B.Com. (CA) DEGREE EXAMINATION,
NOVEMBER 2010

Fourth Semester

Commerce with Computer Application
VISUAL BASIC PROGRAMMINC

(CBCS—2008 onwards)
Time : 3 Hours Mazimum : 60 Marks
Part - A (10 x 1-1/2 = 15)

Answer all the questions.

1. Write any three common i>ria‘properties.

Form-esr Glungyeunest preperties sfGCaenilbd eypesim) 61(10)15.

2. Whatis the use vf r'4 key?

F4 key- 61 viuisst etes1601 ?

3. State True or False: Base-1 is a variable name.

&fl levevg Feum sneswis. Base-1 eteoruig) variable-ew

Quwy.



Write any two special properties for Text Boxes?

Text Box-en fipLi properties sGgenib @resvr( 6191 5.

Write the syntax of Dim Statement.

Dim Statement-est Glungjeuiqauld 6T(Lpg)s:

How can you assign Arrays?

Arrays-gg eteueunm) assign o Fweumil ?

Write the syntax of Iloa i Statement.

Load Statemenrt-e61 Glung) eulqeud 61(LpSIs.

How can 7701 add Flex Grid Control?

Flex:&:rid Control-gg eteueunmy Gaylinimii ?
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9. Write one example to User defined records.

User defined records-&@ e 2-gmresib 61(p&1s.

10. What is a Header?

Header stesrmmev 6t6ttent ?

Part- B (5x3=15)

Answer all quections.

11. a) Discussabout tho.Color properties.

Color propeitics umn eleundléasea]ib.

(OR)

b) Write a short notes on message box.

Message box upni Amy @Ml e1(pgI5.
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12.

13.

a)

b)

a)

b)

Explain the Visual Basic data types.

Visual Basic-enr data types umnil eflens@s.

(OR)

What is the use of Input bos” Txplain.

Input box-esr Lwewt st6v1507 7 oSl 6115 & 5.

Explain the Locd @nd Unload Statements.

Load wpmiiz-Unload Statements-g eflensg@s.

(OR)

Write about the one-dimensional Arrays.

One-dimensional Arrays upg e1(pgis.
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14.

15.

a)

b)

a)

b)

Briefly explain the Combo boxes.

Combo boxes up) eflfleuns elens@s.

(OR)

Write about the ‘Enums’.

‘Enums’ up) erpgis.

How can you modi%ing a Report Title?

Report-emr s;mevLiens sTeuieumm) wrmmieumi ?

(OR)

What is a Footer? Explain.

Footer etestmme et6ttent ? 6l6mss @s.
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16.

17.

18.

19.

Part - C (3 x10=230)

Answer any three questions.

Draw the Properties window and explain.

Properties window-est LIL_LD euenrhgl FaMS@Hs.

Write one example for Select... ... case statement and
explain.

Select........ case statement-&@ @ 2-gnrewid ()
eNlens @ s.

How can youausing Arrays with function?

Functianieo Arrays-g  eteueurmy 2 uGursl

LGS g umi ?

Briefly explain the Flex grid controls.

Flex grid controls upm el fleurns ellens@s.
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What are all the steps used to creating a report with

a Database?

Database 2 L enn report swnfliugmnasrer el &er

6165163 ?

skkok
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AF-2268 BCC4C3

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fourth Semester

Commerce with Computer Applications

ADVANCED ACCOUNTANCY--1V

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 = 20)

Answer all ques‘ions.

1. Whatis Contract Account ?

QRUUBSS 56518 S oi63TDTED 6T6IT60 ?

2. Whatiswork certified ?

gremaefléaslul L Liewfl stestmmed eTestest ?



What is Royalty ?

&HSSHENS: 6T6TTMITEV 6T6TT6HT ?

What is shortworking ?

&GHOD 2 HLIGH 6T60TM 6V 6T6vTENT ?

What is Hire Purchase system?

QUML_ 698 ClBTET(PSHED (LP6s:N STESIMTED 6T6TTENT ?

What is Cash price?

Qlyn&as eflemev bTEsTHTEV 6T6vTENT ?

What is fully secured creditors ?

(P(PEUGILD LINGISSTLILITE &L_6vithCHTTSH6T Wy ?
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10.

11.

What is Deficiency Account ?

UDDTE(GHEOMD &6T0T8(&) 6T60TMIT6V 6163168 2

What is meant by Inter-Departmental transfer ?

IOM S EHSHEH 6L WMEST LDMHMLD 6T68TLIG 6T oI LIM(HET Wing) ?

What is Independent Branch

Fesfl S wimi@ SHlemer et6itn ) eT6vTovT ?

Pare B (5x5=25)

Ansveer all questions.

(a) The foliorving was the expenditure on a contract
for R:.6,00,000. Material Rs. 1,20,000; Wages
Rs..1,04,400; Plant Rs. 20,000, Business charges
1’s.3,600.

Cash received amounted to Rs. 2,40,000 being 80%
of work certified. Materials on hand at the end of
the period was Rs.10,000. Plants to be depreciated
by 10%. Prepare the Contract account.
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12.

(b)

(a)

¢h. 6,00,000 ellemev GlamewriL @@ @LILIHKSSHH 60
Spaeni ClFeveaser enULL6st. epeoLliblLimmer
em. 1,20,000 8.6 em.1,64,400 @i b em. 20,000
Nwnunré Glgevey em. 8,600. snenmeflaaliLil L gdleo
80% o4& em. 2,40,000 Qyréswnsl GlLw il L g).
smev (Plgelled em. 10,000 wdlliemem o GlLmme
GmLUieo 2 eteng). QuinSlrsHm@ 10% Cguiwnesid
RESBHO|D, RLILIHSSH SHEWTEHEGHS 3= NflasHea .

(Or)

State the features-of Contract Account.

@UILLS S6wT1sSl 31 ADLILNWEOL Bemen Snmis.

A colliery 15 leased to National Coal Syndicate on
a royalty of Re. 1 per tonne on the output. A
miniinum rent of Rs.60,000 a year and allowances
tor shortworking are to be recouped within five
years of the lease. The coal actually raised in a

series of years is as follows :
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Tonnes

Ist year 8,000
2nd year 10,000
3rd year 18,000
4th year 28,000
5th year 14,000

Draw up Royalty account and .anidlord’s account.

Csflw Hevsafl HincuenssnT @@ &IRsHMS
&55085@ 61517, 2 flewng Clgrenswng L e
QRTNISSE (h.. BFewrwd Qewwliul (HeTeng.
GODBS UI_F eurLens euBLSIHn@E em. 60,000.
&eop. 2.pusdleow 5 @G0 2 fleww W0 BB
6U(Ii)L_B18ETH & (&) 2_6TT6TT6BT. (LPSH6V WG| 2i6u0T(DSe6ifl vt

o pusd) eSlurb.
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(PSeOTID SyETT (D) 8,000 L_eir

BresLmbd opeT(® 10,000 L6t
QPEITMILD  3,6557(H) 18,000 et
BISTISHD 46551(H) 28,000,
BHSMD 31,6557(h) 14,000 et

2 flenwng Oarems &/@, Heslpny &/@ swry

Q&wweyb.

(O

(b) Ramu took alease ;“mine for a period of 20 years.
Royalty is Rz. 1. per ton subject to a minimum rent
of Rs. 12,203 p.a. The shortworkings are recouped
during the first 3 years of lease. The output was
2004-Nil; 2005-4000 tons; 2006—20,000 tons and

2207-40,000 tons. Prepare Analystical table.
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13.

(a)

TP @ STRESMS 20 AT HSEDSS GS5066S
(&g 2 emenmy. 2 flewws ClFTems @ LeTansE
eh. 1 efgd GonPhs ULs aurLens I 6a1(h& S
eh.12,000 et6v1 61(0S5&18 ClasmemeniLIQE i SHenmha
2 UGS (P60 eperimi yevut(Bs6rflev SiHuL Glum
auems Cewwlul Qereng. 2 HLsS eSlurmd :
2004 -Nil, 2005-4000 L_ebs. 2006-20,000 6w,
2007- 40,000 L6t 6 6M&am L 1L iq U6V 663T6DMS, SWIMT

Q&swis.

Miss. Janaki burchased a machine on hire
purchase sysveam’ Rs.3,000 paid on delivery and
the balance.in five instalments of Rs. 6000 each
payable ‘annually on 31st December. The cash
price of the machine was Rs. 30,000. Calculate the

amount of interest for each year.
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(b)

Ceevell. mrewdl @@ Quibdlrsmns aur_eans
Q& mer(p 560 (p 6 m ull 60 eunm Glermmy.
aumaidlwe]esr ¢mr.3,000 Sengu|b, 56 Clgrensenw
mbg Seuemewisefled ¢r.6,000 iz sesubleunm
(b 1gswuy 31-60 Oeeyseifletmey.
Bundlrsden Lsaallenev ¢mr.30,000. geubleun(m
SLETITIGMETEVT L _Iq6DUIS H60TEHE (HS.

(Or)

I buy a television on Hire purchase system. The

terms of payment ar: as follows :

Rs. 2000 to ve paid on signing the agreement;
Rs. 2800 avtae end of the first year.

Rs. 2€00 at the end of the second year;
R::2400 at the end of third year;

1is. 2200 at the end of the fourth year;

If interest is charged at the rate of 10% p.a., what was

the cash value of the television ?
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14.

(a)

BIT6T GUMTL_608 Gl&TET(LPSH60 (Pewmullev, (h ClBmeneus
sl Quiiy eurmdlCerer. O&Fa) S SH60
euenr(penm LlesTeau(mHLomm) :

eh. 2,000 UuUBsSWL ma6lwwsSO WL Clurwws
Clee)55 Ceuetst(HID.

em. 2,800 (pFH6v u(HL- (Pigedlev.

eh. 2,600 @) revuTL_Mmbd 6u (L (Lig 6Xle0.
eh. 2,400 epesTmid 6B (LOlqal6v.
eh. 2,200 BIESISILD 61 (1"~ (plgeXlev.

ally euBLSSNE 10% eSfsb afssme,

Qaremevsar_ & i qulles Clrnés iy eTevtes ?

When a ¢erson can be declared as insolvent ?

TUQLIps @@ BUT CBrgsSH L CureTeaurns

2mell&seond ?

(Or)
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15.

(b)

(a)

Write short notes on :

(i) Preferential creditors.
(i1) Deficiency account.

i @IILY 5ms

i) ereflenw sLefhCam.

(i) UDPDIEGEOD S6TTISHSE).

The following inforiaation relates to Madurai

Branch :

Stock on 1.1.94
Branch-d=ptors on 1.1.94
Goonas sent to Branch
Cash sent for Branch for :
Rent 1,500
Salaries 3,000

Petty cash 500

10

Rs.

11,200

6,300

51,000

5000
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Sales at branch :
Cash 25,000
Credit 39,000 64,000
Cash received from debtors 41,200
Stock on 31.12.94 12.6C0
Prepare Branch account for the year 1994.

D3OS Slenemuilest 6L BIseT SLP&ES6vTL UMD

2 _6lTeng).
erb.
grsdmuy 1.1.94 11,200
Fenemullenr siusormeflasm 1.1.94 6,300
Slewens @ =2,allw FréE, 51,000

Hlewesy etiflu Qrrss :

eLTL_6W & 1,500
FLDLI6ITLD 3,000
HAevevemny Grrasw 500 5,000
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Slememullesr eSIimHLenest

Qrrssmd 25,000

&L_60T 39,000 64,000
sLesmeflgefl_b Qupm Glrrs&swn41,200
grsdmuy 31.12.94 12,600

1994-&anest Flenens Hevv16HmGS & L MHl&HS.

(Or)

(b) The following is the.anformation relating to the

business having thiee departments.

Dept Purchases pening stock  Closing stock

A .. 1500 units 200 units 100 units
B ... 1000 ¢uits 300 units 160 units
C ... 230U units 150 units 200 units
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Additional information :
(1) Purchases were made at a total cost of Rs. 92,000.

(i) The percentage of gross profit on turnover is the

same in each case.

(ii1)) Purchases and sales prices and constant for the

last two years.

(iv) Selling price per unit :

Dept. Price [Ks.]
A 20
B 25
C » 30

You are recuired to prepare departmental trading
account asciming that there is no opening and closing
stock.ana all the units purchased are sold at their

respective departmental prices.
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20 Hpamsdear aperp gopameart upBlw
eNlupriger esteuHLomm).

gleonm  Glansm(pseo FlOUSHHF Ons&

FradmLILY FTESIHLILY
A ... 1500 ieo@sen 200 60 s6 100/ o160 s6i
B ... 1000 gieo@sem 300 jev@s6n 160 gevG a6

C .. 2000 geo@amsm 150 jeugisens 200 60 @ a6

Fa(DB6V &5616086T :
1) Qanergev Glguiw it L g Clwrggw ep. 92,000.

(i) METSHS £160DEEHSHEG LD ellhLener Wgte Clnss
Beoru 0G0 esTC,.

(iil) &Lbs Qreni(h yewT(hseafled GClammpgen WHMID

eAgiimen ellemevsefled LMHMHLD Bevemev.

(iv) «cemp Sjevdlet elpHLIEDeT elemev :
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16.

glewm efemev [em.]

A 20
B 25
C 30

geusss srsdmUuyb @nSe sraflBLyn Qeemeo
sTeomb Glamem(pgev CEWWLILIL L FT& SH6T S|eneusg)Ld
IABSHSS gGepaseaileo elniaenes  elenevsefleo
alpasliul B eNO&leTnen sTaTOL Seibnerd GlFuig)

Qaness(® glewmeurfl ewnum e cesHenass Swnfleseay .
Part C (3x10=30)
Answer any viac2e questions.

The following ‘particulars related to a contract
undertaken hy-Ajit Engineer. Materials sent to site
Rs. 85,349: Labour engaged on site Rs. 74,375; Plant
installed atsite Rs. 15,000; Direct expenditure Rs.3,167;
Estabiicihment charges Rs.4,126; Materials returned to
storec Rs. 549; Work certified Rs.1,95,000; Cost of work
not certified Rs.4,500; Materials in hand at the end of
year Rs. 1,883; Wages accured due at the end of year
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Rs. 2,400 Direct expenditure due at the end of year
Rs.240; Value of plant at end of the year Rs.11,000;
The contract price has been agreed at Rs. 2,50,000;
Cash received from the contractee Rs. 1,80,000.

Prepare contract account and balance sheet of the

contractors.

NS Qumlurenjaser TGS bieTewwTL @LILIKLSLD

FubgLore eSlLIThIseT Llestel [Hwrn)

H-

OmUYLSHDHE aumthslul 1. Fra@sen oh.85,349;
QmulL_gder GCeuemesuiien Olaevwey em. 74,375;
BmuLgdleo Amieulrilsr gemeur b GlFevey em.15,000;
Crrg& Clgeveysen em. 2.167; Blmieuend Claevea s em. 4,126
&7 & &) & 6T SLadlneg  SHoowAwug eh.549;
gnestperfleaslil L Liewfl eh. 1,95,000; eremeflasiiuL_ng
uewflllenr _=sellemev ¢m,.4,500; Fra@a6n enaullmLiL
aU(BHL (plramiev 1,883; aumL (pigelev Glam(hiu Ceuevoriqul
68 e, 2,400; eu@mL(pyeiled QarGuL. Ceuevsriguw
Crri, s oFeva] emh. 240; euBL (Plg6ail60 GemeunL b Ly
eh. 11,000; sbwds5s @Luubs ellemed er. 2,50,000;
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UUBSWL Ieflgseuflbll@mhs QUL L Lewb
em. 1,80,000.

RUUKS seausmasuwb, Qamuyblenensd @nllile
udleysenemu|bd LUUBLSSSTTT ehis6flen wny ClFuws.

17. Mr. Boss wrote a book on costing and got- t-published

with Kalyani & Co. on the terms given below :
(a) Royalty will be paid at Rs. 10.00x copy sold.
(b) Minimum rentis Rs. 30,0)0:

(¢) Right of Recoupment € siiortworking over the first

three years of Royalt;r agreement :

Other information :
Year No.cf copies printed Closing stock
1992 2200 200
1993 . 3000 400
199¢ 5000 800
1995 7000 1000

Prepare the necessary Ledger Accounts in the books of

the Publishers.
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F. umev eTenLIOT S| SS6N6060 HEWTIHGL LSH5HHNS
(WS Siemg seownenfil 4sss Cleuafluli B Hniwsslen
epeod Slev eldlaenLen GeuaflllBdlesmg. iemeuser
esteu(mHLoTm).
(&) @M U525555DS eb. 10 65 2 flenos Cgrems
auprsLiuL. Gelewst(HL.
(=3) @eublaun SpesHID ¢h. 30,000 MBS ieey
GUML_6MSBWITS 6ULPEIGSH60 (6616651 (HILD.

(8) @eubleun oy e6wTiqe6m -2 sTenLiquirest 2 flemwo
Caremaemw lEHS! (GMDBHS i6TT6Yy CUTL_0S
Carens (WS, ePETM 6 (HL MBI &6l 60
#fla_(Dgeo Ceusvor(HLD.

9m S&eueLS6T

QU (THL_LD IFAL L yssasdlen aNans LsS5s55) 60

ercouTensflSena eTevvTensf| S 68
1992 2200 200
1993 3000 400
1994 5000 800
1995 7000 1000

udliunerfles 4ssss5He0 2 emen CLICTL (D &6vu18: @S 66

S([hHS.
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18. Malan purchased a machine on hire purchase system
on 1st January 2003. The terms of payment are four
annual instalments of Rs.12,690 at the end of each year.
Interest is charged @ 5% and is included in the annual

payment of Rs. 12,690.

Show machinery account and hire vendor account
in the books of Malan who defaulted in tiie payment of
the third yearly payment wherevnon the vendor
repossessed the machinery. Malan provides
depreciation on the machinery @ 10% p.a., on the

reducing balance.

2003, mewaulfl 1-6v, “omev6sm UM 6w ©l& M6l (LS 60
S L Glev @ Quimthro sunidlenny. OFe) 551560 eueny
(PemDUllent Lilg BHTH01S €U(HLBISEHSHE) 6ubleum(m euhHL
BnHuled, 6 s SeuemewTins ¢h.12,960 Clee)ss
Ceueror(Md. @itlg 5% eSgw eNgsasliu’ @, uBLS
CarenawTa emh. 12,690-60 Carmbgleeng.

DIEVET- APETMITEUG 6U(HL S SHeuenmemienw Ol 555
Feaipiugne, ellpueneswneny Quindlrsens oLl
QuOMIS CerewTLy. wreveenLw ghseafle Quindrs
SEWTSH@E WLOHMID UTL D& eNDHLIENESTWTET] & 65515 (S
STLL . Wreven euBLSSHNE@G 10% @Gemphg ol
By wenpullev Cawinnesid &15@&SHmi.
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19.

Kanthan of Madras finds himself insolvent. From the

following particulars, prepare a statement of affairs.

- Free hold Property [Expected to realise
Rs. 25,000]— Rs. 36,000.

— Machinery [Expected to realise Xs:10,000] —
Rs. 45,000.

- Stock in Trade [Market vaiue Rs. 56,000]
— Rs.65,000.

- Book debts —Good -~ 12s.10,000.

- Doubtfull [Expected to realise 60%]— Rs. 20,000.

- Bad debts —.R5. 6,000.

- S. Creaitors for goods supply —1,11,000.

— Loan creditors [having mortgage on building]

-Rs.20,000.

— Bank O/D [having a lien on stock]— Rs. 70,000.

— Bills of exchange [all good]— Rs. 8,000.
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— Bills of exchange discounted —Rs. 5,000.

[Of which Rs. 2,000 are expected to dishonour]

- Shares in ‘A’ Ltd [Market value Rs. 3,500]— 2,000.

— Cash in hand — Rs. 100.

- Five months salary due to a cl¢ik —Rs. 750.

— Taxes due to Government— Rs. 150.

Claemenemulleienen snBgw Sleumeo opflesrpry.SC 2 emen

eleurmigenensd Cl&Tes R s 7 Elenevenio Nlsens Swinflés.

—  evevmslevng Ganggsasen ep. 25,000 -8
elmaeomis we et FUMFSSLILLL & — eh.36,000.

- Quinsrd [¢r.10,000-5@ edm&seomd erew eTest

asurFssiul L g — em. 45,000.
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s mly [eheng wdliy em. 56,000]— en. 65,000.
(b sLevmenysem —heveveneu — em.10,000.
mwssL6est[ 60% eu@eonsseonin]— em. 20,000.

s sLewr — ¢1H.6,000.

Qunmer suprdw sLesfibCamy — em..1.11,000.
sLeslihCam [sL1qL 1 188 upmyfianio] — em. 20,000.

eumidl Gueveusmrl upm [¢18 @ g upmiflenw]
— ¢m.70,000.

QunsHGAW WLIHMF & — 6TEVEVMD HEVEVEMEL
— em. 8,000.

eul_L1b QFwg LimzES_ (B — em. 5,000.
[@lev em. 2,000 mSsLILIGOID eTewt st LILImFLIL]

A AL L g6t LIk Gs6T [ sheng wSliL em. 3,500]—
er. 2,.000.

eoswl LY s — em. 100.

Q1 6155 (H5E laT(Hse Ceuetriqut 5 DG FLIETLD
— em. 750.

IremisEsSnE carhses Ceussuriqu eufl — em. 150.
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20. Manian Ltd. of Calcutta has a Branch at Patna. Goods
are invoiced to the Patna Branch, the selling price being
cost plus 25%. From the following details, prepare the
Patna Branch Account for the year 2009 :

Rs.
Stock (1-1-90) (Invoice price) 1,250
Stock (31-12-09) (Invoice price) 1,500
Debtors (1-1-09) 700
Debtors (31-12-09) 900
Cash sales for the year 5,400
Credit sales for the 5<ar 3,500
Goods invoiced frcm Calcutta 9,100
Rent 400
Wages 340
Sundiy expenses 80

23 AF-2268




se0aSFTedeverer wewflwen eSINGIL L (D&@ LT emeilen
Semem epeuim 2 6TeNG. LT oI Slemens @ & & e
FMVMID IV UVSSHE S (hhg LssHellened + 25%
gdeemid QL iy ellemeoulled QemLiuiL@GE M.
Sp&satayb elurksefled mhg 2009-&amsn LT erm

Slewens sersTHemss SWTF&HES.

gr&dmLy (1-1-09) (QLmiy elensy) 1,250

er&dmuy (31-12-09) (@i alenev) 1,500

sLestmerflger (1-1-09) 700
sLevneflsem (31-12-09) 900
BeueumL Glrr&a M) Lenes 5,400
BeueumL HL. sv<AmHLEn6DT 3,500
B6085FM6L 3\ (HHG el F76@E, 9,100
QUNL_696 400
F.60) 340
LMHLI6V GlF6v6 a6 80

sk

24 AF-2268




AF-2269 BCC4C4

B.Com. (C.A.) DEGREE EXAMINATION
NOVEMBER 2010
Fourth Semester
Commerce with Computer Applicatibns
BUSINESS MATHEMATICS
(CBCS—2008 onwards)

Time : 3 Hours Mazimum : 75 Marks

Part - A (10 x 2 = 20)

I. Answer all the questions.

1. Write the formula fer 5imple interest.

seflaily anenid GSIHTS50s 6198

2. Define Due Date.

E6.160630T [HTET GUEDTWIM).



Write down the formula forlog (1 + x) + log ( 1 —x).

log(1+x)+1log(1-x) etz es &S5 1&HMS 61(10SIS.

log, =

log, =

Write DeMorgan’s law.

le. oM evtlent 6XlHlem .61 G-

Define Set.

S6ETUTLD AU WM.

2 AF-2269




10.

Write down the formula for mean and variance of

Poisson distribution.

umievrest LreueSlen &rmgfl WHMILD LITeumNHL g & s mest

&SSITD 61(198I5 .

What is Laspeyre’s index number ?

eomenLNwr @GHMuIL (B 6T6V8T sToTM M6V 6T6TTENT ?

What is Event ?

BlaLpey eTenTLIg) 6TeT6ur ?

Write the statement for multiplication theorem on

probahility.

Blawpelen ClLmss Cannsslenes gnm).
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Part- B (5bx5=25)

II. Answer all the questions.

11.

(a)

(b)

Find the total interest on Rs. 325 for 65 days.
Rs. 475 for 100 days and Rs. 550 for 82 days
at 6% p.a.

@M pwO&EGHAw 6% anlgsde 85
BIL&EhssTer  oh. 325, 100 BIL_&EHs s e
eh. 475 wpmib 82 BM_cemssETet oh. 550

QeupMnaTes do L (D 6Ly &T65Ts.

(Or)

The difference between the compound
interest eénd the simple interest for 3 years at
5% p.a. on a certain sum of money was
Rs. 618 Find the sum.

2 gy safleo @MU Clgrenssser 6
wmLsHnanen srrefl 5% Sarem gal ()
eIl 195 @0, sefl el igs@Gn Qe Guw o emen
Coaumunr@® ep. 610 erasfled Gl men s uldl ew e
seseT(H L1g.
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12. (a)

(b)

Prove that :

n+l  2n wm Y m Y
log = + 1 ( j +1 ( ) +
n-1 p%+1 A n? +1 A

n? +1

86| srews

Show that :

—+

o U +...+0=3log2-1
,2,3.754,5 56,7

5 7 9
+ + +
,2,3 3,45 5,67

...+0=3log2-1

616 ST (H&.
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13.

(a)

(b)

Prove that :

A-(BNC)=(A-B)UB-0)

A-(BNC)=(A-B)u(B-C) erew Blmyoys.

(Or)

The number of studentsvho can play either
football or cricket is-55. Among them 20 can
play cricket and 25-can play football. How
many can play touvk the games ?

35 LOMETTAITATEY STVLIKS LOOHMIWD L 6mL LI
uhg edleaeniim_(H&enen eSlememuim (Lpig.ujLb.
SeuiFgnm wLewL U Uhg edlememwml(® 20
Cuisameyw, sreounhg edemenwrl (@B 25
Cuiaenmend ellememwimr (Piqujd eTeufl6v,
Sostor(h elemenmwnl_ (DS eweTULd 618 S 6 681

SLFSeTTeV e ememum (Lplgujb ?
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14. (a) A bag contains 6 white and 4 black balls.
Another bag contains 7 white and 3 black
balls one ball is drawn from each bag. What
is the probability that :

(1)  both are white ;
(i1) both are black and ;

(111) oneis white and otz as black.

@@ emuuiled 6 Gleusiens™ OHMID 4 s@HLL HiD
UhG ST 2 emenar./ bBoOprm enuulleo 7
Qeustemen, 3 @@L BID LB ST 2 6memen.
eableaumrm enLleD @@®B Ubg eIFHWD
@ &sLLOE D T6vl60

(1) Qs Oeuetemst Hmwns ;

N @rem@n smuy Bpons ; wHoib
(1ii) ep(m CleusTemem LI 6(H SMILIL LIHS)
@ouusnarer H&pssHe  STevr.

(Or)
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(b)

15. (a)

(b)

Write the characteristics of Poisson
distribution and also write the difference
between Poisson and binomial distribution.

LIMLEN 6T LIT6U 660l 63T (56307 15606315606 6T(LDS)IS
LOMID  UTWeOTeT  LiFeued 6o« wFF(Hm L
ureue)&@ilw CeumunrG &ener 61(ps|s.

Find the coefficient of x!! in-th¢ expansion of

( N b j17
x _ .
x2

17
2
(H—zj eo1 e 50 x''evr Gl (Lp SHmevor.

X

(Or)

Write-the middle term in the expansion of

- 12
i 2

[ —— .
\ X

12
(x—%j o1 ellfleflev BH 2-MILIL] Smevor.
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Part - C (3 x 10 = 30)

III. Answer any three questions.

16. Find the Equated due date of payments of the four
bills payable as given below :

(a) Rs. 700 on April 2nd

(b) Rs. 331 on May 7th

(¢) Rs. 196 on June 16thand

(d) Rs. 405 on July.z9th.

Qar@&asluLl L. RTeol@ &L L 60T TS5 EHS e

Feuenesot Bre (6 (b1l

(a) “spriged 2 gyewrmy em. 700

&) G 7 germ em. 331

(c) ggrest 16 gevim em. 196

(d) ggeemev 29 yerim em. 405

9 AF-2269




17.

18.

19.

Show that :

5 7 9

1+ + + +...:3log2
,2,3 3,4,5 5,6,7

5 7 9
1+ + +
1,2,3 3,45 5,6,7

2 7
+...=310g" grew &L (h.

State and prove DeMorgan s . iwo laws. Give
example.

ewrjsefler @rew O oldlaemer epdl Hlema.
2 gnrewid Clar(m.

Fit a Poisson Gistribution to the given below :

x : 0 a2 3 4
f 123 56714 3 1

LITUS 6TV TEBT LITEU 6D &IT600T 6U6DFLIL_LD 66D IFS.

x : 0 1 2 3 4
f 123 59 14 3 1

10 AF-2269




20. Prove that:

Cy+2C, +3C; +... +nC, =n)""!

&6y H6TETS

Cy+2C, +3C; +... +nC, =n)""!

OO

11
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AF-2270 BCC5C1

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

CORPORATE ACCOUNTIN(x

(CBCS—2008 onwards)
Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 =20)

Answer all questions.

1. Whatis Issue of shares at discount ?

LIt @661 SeTemnLta.uil6u Cleusflul(Dsev stesTmmev 6T6sTEN ?

2.  What is Capital Redemption Reserve ?

epeuG e S8l SMLIL| 56v5T8(F) 6T65IMT6D 6T65TEE 2

3. What is Business Purchase account ?

auenfle QETET(LPHEV &6w518 (&) 6T6TMTEV 6T6OTES 2



What is Time Ratio ?

&me0 N&FLD eT6TMMEL 6TEBTEN ?

What is Dividend ?

LBISTSTWLD 6T65TMIT6V 6168160 2

What is Capital reserve ?

PLPEVG6UTE: SITLIL| 6TETTMITE) 6TSVI6TT 2

What is Amalganiation ?

Q@ (HEIFlenemTLIL] 6T6TMTEV 6T6uT60 ?

Define Internal Reconstruction ?

2_61T LoMIEUEDIOLIL| GUEDTUWIM).

2 AF-2270




10.

11.

What is meant by Liquidation ?

Blmieuen &eneoLiL| eTemTmTeL 6T6wTES ?

What is Deficiency account ?

UDDTE(GHEOMD &6T0T8(&) 6T60TMIT6V 6T63T60T 2

(a)

Part B (5x5=25)

Answer all queziions.

Timex Ltd issued 1900, 8% debentures of 100
each. Give appropiiate Journal entries in the
books of thz conipany, if the debentures were
issued as foliyws :

(1) .lasued at par redeemable at par.

(i3) Issued at discount of 5% repayable at par.

(ii1)) Issued at premium of 10 % repayable at par.

3 AF-2270




(iv) Issued at par redeemable at a premium of

10%.

(v) Issued at a discount of 5% repayable at a

premium of 10%.

You are also required to show low the items
concerned appear in the 2aiance Sheet in

each of the above cash.

&9 L0\ 10 5 610 eI i 1,000, 8%
sLeaTuSS rhsena GaueflulllLg. wawd iy
eaibleunesrmb emy. 100. Spsanamind el Lrk &er
Iligliten_ulev; o augdrn Qeueful(n Clauiuyd
CuNpEl I WSHSDILLL LFe|Smens &ms.

1) @rrdie Qeuafll®), Byupswiie.

(i 5% eul_Lgglev Qeusflui(®, B pswdliiieo.

(iii)) 10% (p 69 65110 & & 60 Qeueful @,
B B\(psSlLitle.

4 AF-2270




(b)

(iv) @paswdlibe Geusfllim, 10% emerngdeo
B y.

V) 5% ewlLgdleo Qeueflii(m, S 10%

(LPEOETILOLD .

Cueb eaibleunm wenpullewib (Hlijiww @mLiy

Blemeo g @mlLitlev steuaunmi eupLs ssmssTL_(Ha ?

(Or)

A Company wants to »2ucem its preference shares
amounting to Rs.1,00,000 at a premium of 5% and
for this purpose izsned 5,000 equity shares of 10
each at a premium of 5%. The Company has also
a balance of Rs. 1,00,000 on general reserve and

50,000 6n Profit and Losss account.

Tuss Journal entries to record the above

transactions.

5 AF-2270




@ Bniwb sesenenLw eph. 1,00,000 wdlliLerer
(pegIflemd Liki@asenen 5% (pewesingdled &L
Cess A@mwydng. Ysnsrs 5,000 &
uBi@asener h.10 efgd 5% WemenwGSlev
Qeusflull_L_gi. Bimiwb Gurg srifeo e 1,00,000
®6eus5g Q(HBSE . eh. 50,000 GeorLs ki i SHesvrddle0
BHHES3. DBS HL6LIGSHNSHEN6 LG T CHeme mest
SDILCL D semen H([HS.

12. (a) Ram Ltd. was formed wit. an authorised capital
of Rs. 12,00,000 divided'into equity shares of Rs.
10 each to acquire the-business of A and B whose
Balance Sheet on the date of acquisition was as
follows :

Liabilities R Assets Rs. Rs.

Capital 600,000 Premises 7,00,000

General reserve 4,00,000 Stock 2,00,000

Sundry creditorz 2,00,000 Sundry debtors 1,60,000

(=) :Provision 10,000  1,50,000

Cash at bank 1,50,000

12,00,000 12,00,000

6 AF-2270




The purchase consideration was agreed upon at

Rs. 14,00,000 to be paid in Rs. 12,00,000 fully paid

shares at Rs. 11 and the balance in cash.

Give necessary Journal entries.

grd e Bimiwd ep. 10 umkiGusmer Gl&mewTL

SiIdlEsuULl L (pgev k. 12,00,200 Glareser(h A wnHmib

B eon slwmunrgeng eihGg O Siaen 2 (HeunsHsLlLL L g).

SiseienLw L Blenar FHriviy Meseumommy.

Qunmy s .
(P& 6,00000
Olungy sy 400,000
LnLe sLefbCam 2,00,000
12,00,000

AT . .
oUGTT&LD 7,00,000
768wy 2,00,000
unue sLameflaer  1,60,000
-) :pE6@ 10,000 1,50,000
aurd Qs 1,50,000
12,00,000
7 AF-2270




Qamempgeo Lwen eh. 14,00,000 g em. 12,00,000 &3
LIkI@a6rna oh. 11 eSgpb S Clgrensenw Clynsswngea|n
Qe &5 @LiLs CameTemiuL L g).

Caemeuwinen @GMLCLL B LSleysensT F(Hs.

(Or)

(b) Mohanraj Ltd incorporatedui i, Jan 2005 issued
a prospectus inviting of’ auvplications for 5,00,000

equity shares of Rs. 132ach at a premium of 10%.

The whole issue svas rully underwritten by Kapoor,

Bhora, Dalal aiid Metha as follows :

Kapoor - 2,(10,000 shares, Bhora -1,50,000 shares,

Dalal- 1,00,000 shares, Metha - 50,000 shares.

Apnlications were received for Rs. 4,50,000 shares

of which marked applications were as follows.

Kapoor - 2,20,000 shares, Bhora - 90,000 shares,

Dalal - 1,10,000 shares, Metha - 10,000 shares.

8 AF-2270




Itis agreed that underwriters be paid commission

at 5% on the issue price.
You are required

(1) to find out the Net Liabilities. of each

underwriters.

(i) to give Journal entries far tne above.

Coraser grg eNl6lia_. 1.1.2005 e wudley
Qewwdul L g. g 2,00,000 #rgnr ep. 10
pHuyemLw uri@Gsenst 10% WenerwgSHw

QeueflllL saaiv @ hlsamasanw QeusflulllLg).
Qeuefludl (A (P (P em DU LD 191 651601 (1 LD T M)
euUNIELTeTTSemTe0 eLILMIS QFwwiiilLg).

&Ly1)2,00,000 umki@aser, Gumgm - 1,50,000 Lirki@se,

L.6umev 1,00,000 uiki@aeit, Ggam - 50,000 Liki@se.

Bl 4,50,000 eflewwremtiiLimisemer GlUDDES.
@dled gewLwrend LmHw GG

eNlevsTewsTLILID LSl6tTou(HLOTM)).
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13.

(a)

(b)

s - 2,20,000 uki@aer, Gumyr - 90,000 Liki@se,
Leomeo - 1,10,000 umi@aser, Guwggsr - 10,000

LI (&6

Qeuaful_ B elemev epLiLmSlwimeniaEmhesE; 5% sLdley
&7 uUuBsL Celuwlulizg: &G

SP&EHEITLaUNEOD SWMFlSHs.

i) euuynSwrerfles Blaiyiblummiiy.

(i) wsHE@&HUGUG®H:

Write short notez 011 Managerial remuneration.

Guevresurenio rerdluigeng Ll unn SAmn| GOILL euenrs.

(Or)

Cive an imaginary “Profit and Loss Account” of a

Joint Stock Company.

@@ BnwsHer Qeomru BLL SHeorsHlen &nHLen6

wrflenws &mHs.

10 AF-2270
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14.

(a)

Praveen Ltd. passed resolution and got court
permission for the reduction of its share capital
by Rs. 5,00,000 for the purposes mentioned as

under.

(1) To write off debit balances o” ’rofit and

Loss account of Rs. 2,10,000.

(i1) To reduce the value of plant and machinery

by Rs. 90,000 and gosdwill by Rs. 40,000.

(ii1)) To reduce the raiue of investments by Rs.

80,000.

The reduction was made by converting
50,0Cu rreference shares of Rs. 20 each
fully paid to the same number of preference
iHeres of Rs.15 each fully paid and by
converting 50,000 equity shares of
Rs.20 each on which Rs. 15 is paid up into
50,000 equity shares of Rs. 10 each fully
paid up.

Pass Journal entries to record the Shares

capital reduction.
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Wrefesor o9 eteid Hmiwd Spsasemnr
CrrssmaseEpssns op. 5,00,000 LR@G (pg%ened
Geopliugnens Siwrern HleopCGaunilwuCsr@m
Edwenm 2 sdlre nd CuHBBESS-

1) Qeoru pLL sewsdled uHID (3 LLTS 2 66T

eh. 2,10,000 Gunsospdle Neug).

(i) Qum) wHpmb QubSlrsHer wHLfeo
eh. 90,000 - W lwHmIb HKemwdlLLgeo

eh. 40,000- 1b (& 5Ll

(iii)  pseSL-1gam: walLlillev em. 80,000 GHenmLiLIG).

eenm) ek 22 esId (p(peugib Cleenssiui L 50,000
wester; flenls LkiGaensT Ca eTevvTenflSHemaujemLwi
(et TIMLOLI LIFIGSH6MTS: 2y 6816w ep6uTm) ¢h. 15 eisid
anipeugild CENISHLILIL L. LUEI@Gsemns Wwrnmhluyb,
gem eh. 20 eSsb ep. 15 GQeFsgHLILL L 50,000
Crienll LkI@Gsemen genmy eh. 10 eSsD (ppeug)d
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(b)

QessiiulL. 50,000 Crienwl uUkI@Gsenns
wrodluyb PUurE Wwse GMullener Hlmiwb
CumOsnendlng.

LIkI& (P60 GeonLilensr udle Qauwuw QurmL (b

Caemeuwnen @GHILCLL QL LSleseneis; &([Hs.

(Or)

A Company purchased-aszets of Rs. 3,50,000 and
took over the liabilitins ¢f Rs. 30,000 at an agreed
value of Rs. 3,30,900. The company issued
debentures at 10% yremium in full satisfaction of

the purchasec price.

Pass nezessary Journal entries.
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15.

(a)

G Hniwgdler paH GBILCUL g6 LFla|se
H([HS.

7 Blmiwb ep. 3,50,000 williysE Clensgsener
eummdl em. 30,000 &@ QuUImUL&eier. FDMIS
CarewrLgl. @uUUS Oamemerliiio Sy
eh. 3,30,000 &@ sLem usdirrusenst 10%
wenewgdHer eflsg Cararinger eilenevenw
WPpeugins FHoFLSS).

From the followipe -particulars, prepare

Liquidators Final statement of account.
Cash Rs. 10,00C

Assets realizec Rs. 23,000 [other than securities

with sec1e creditors]

Secured creditors 28,000 [ securities realised Rs.
35,060

r’veferential creditors Rs. 800
Unsecured creditors Rs. 62,000

Legal expenses Rs. 250

Liquidation expenses Rs. 1,200

14 AF-2270




Liquidator is entitled to a remuneration of 3% on
assetsrealised [including securities with creditors]
and 2% on the amount distributed unsecured

creditors.

SP&EHTEID H& 616086l 60 (b e e0LILmen e
Omi SM&ms semsdene SuirT Slguis :

QrrssLw em. 10,000

Sie Qewiu’ L Qeng g seer em. 23,000 [Nenewtw
sLefbCHTAlId 2 e WemeswTw O &FnS g &6

Briseons]

Wenewrw sLe‘bEsmT eh. 28,000  [19ewevorw

Clang g saer Kirsy ClFwigg em. 35,000]
wesiew)fienid sLesliECay . 800
Wemersruleveon sLesfGsmy em. 62,000
FloL QEeveyser em. 250

semeuLiL Glgeveyser em. 1,200

Qlens g saemen Siay OFLg ClgTenguiled
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16.

[&L6sfECamilib 2 6o enewrws Clangg 2 emuL_]| 3% b
Wememmulleveons &sLennefllaens@ OGeassliul L
Caremaulled 2% b semeoliumeny erdluwiwns Glum

2_flenLou|6Temeu g 2 6Temmy.

(Or)

(b) Explain how Statement of Affuirs and Deficiency

account is prepared.

SmEVLIL NMSMSUID LDHMHTSHESGHEND & 68T &)L

sTeueummn Swrflas 1LDSenng ?

Part C (3 x10=30)

Answer.any three questions.

A LimiteaCompany issued 10,000 shares of Rs. 10 each

payahic as follows :

Rs. 3 on application Rs. 3 on allotment Rs. 4 on first
and final call. The company received on 13,000

applications from the public. Applications for 1,500

16 AF-2270




shares were rejected and the excess application money
received on the other 1,500 shares was adjusted towards
allotments. All the amount due on the shares were
received except the call money on 500 shares which were
forfeited after due notice. Later 400 shares were

reissued at 8 per share. Pass Journal ent=iez.

@®m Hmnwbd 10,000 ukiGsaer  ep. 10 eSHbd
SP&seTLeunn 0FNISS $558 eusnsiNev Gleuerfluil_L_gy.

eh. 3 elevemTLiLIGSlent Clum(pg; eh. 3 R&ISSL_Lq 601 ClLINLpS)
eh. 4 (v wHNID FmiFH SewpLiflenCumng.

Blmiod 13,000 ukiEsEpsates eleueniun GlLHDHE.
1,500 L@ & ET:aieur e5l6sTesTLILID WNISSLILILL G|, LDHD
1,500 umi@aumsasne 2 ufl lewremiiug Cgrens
816853 #fl Qewwiul L g. 500 LGIE@sEHssne
el OCarems sl mersgs OCsrensud
QuuiulLg. 500 LI Tl (&) & 61T eniuSlpiy
QEwwuiul’Lg|. 400 LEIEGSeT ¢h. 8 &@& N Gleusfull(®
Qawwliul’ L g GALCUL (B udesemen HmHs.
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17. A Company Ltd was incorporated on May 1, 2006 to
take over business of X Co. Ltd as going concern from
1st Jan 2008. The Profit and Loss account for the year

ending December 31, 2008 is as follows :

Rs. Rs.
Rent and Taxes 12,000 Gross profit  1,55,000
Insurance 3,000
Electric charges 2,400
Salaries 36,002
Direct fees 3,000
Auditors fees 1,600
Commission 6,000
Advertisement 4,000
Discount 3,500
Office expenses 7,500
Carriage 3,000

18 AF-2270




Rs. Rs.

Bank charges 1,500

Preliminary expenses 6,500

Bad debts 2,000
Interest on loan 3,000
Net profit 60,000

1,55,020 1,55,000

The total turnover for the year ending Dec. 31, 2008
was Rs. 5,00,620 divided into Rs. 1,50,000 for the period
upto May 1, 2008 and Rs. 3,50,000 for the remaining

period.

Ascercain the Profit earned price to incorporation

period.

19 AF-2270




A Bimiwd G 1 2008 & sl (H(Heaurssn Glewwiul (b
X. Co NG L ewL memeufl 1.2008 X eN®mHBH&E
(D 5g150snewTLg) 31.12.08 gy 1b Ca8l (pi1qw SiFeienL_w
Qoo KL SH6wu18E SLpeu(hHeueut.

uHM . ey e

eUTL_69& WHNILD 6uifl 12,000 Quwnég »rmuw 1,55,000

Y NIRCY 3,000
O 6BTENTS &L_L_650TLD 2,400
&LDLIGITLD 36,200
Bw&E BT &L 6w 5.£00
Fewsll&ens &L L_6soTid 1,600
sLley 6,000
eSlembLIrLd 4,000
S6ITETHLILg 3,500
SIVI6U60S ClFev6S6iT 7,500
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LpHO| . ey e

Gr6WLD& T 60] 3,000
aumidl &L L_6wTid 1,500
EYN INERAEVYET 6,500
UG &L_65T 2,000
SL_6uTLSG) 6L _lq. 3,000
Blar eomuid 60,000
1,565,603 1,55,000

31.12.2008 (wiqui-Giet55 eNlmuenen em. 5,00,000. @hs
elmuiemests Glgmer. suflev em. 1,50,000. 1.5.08 (Wiquie|id em.
3,50,000 155 e &Me0S5gH@&HWw 2 flueneu. Gomaesor
Aurmsefl Sl HHE Fal O HUTSES HT05H SHE (6o

FOLINE 5L 60MLILD 6T6UE6TT6Y 616818 SH6VTSHE L6 LD.
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18. From the following particulars, prepare Company’s

Profit and Loss account Balance Sheet as on 30th June

2007.

Particulars

Stock on 30th June 2006

Sales

Purchases

Productive wages

Discounts

Salary

Rent

General expenses includingir.surance
Profit and Loss accour't 59 June 2006
Dividend paid

Capital, 1000 shares of Rs. 10 each
Debtors and Cireditors

Plant and Machinery

Cash in hand and bank

Reserve

Bad debts

22

Dr Cr
Rs. Rs.
7,509 —

— 35,000
24,500 —
5,000 —
700 500
750 —
495 —
1,705 —
— 1,500
900 —
— 10,000
3,750 1,750
2,900 —
1,620 —
— 1,553
483 —
AF-2270




Adjustments :

@)

(i1)

(iii)

(iv)

V)

(vi)

Vil

Stock on 30th June 2007 Rs. 8,200.

Depreciate Machinery @ 10 % p.=.

Provide 5% as discount on Delstors.

Allow 2% % discounten Creditors.

Provide managing directors commission 15%
on the net-nrofit before deducting his

commissiets:

Onz month rent @ Rs. 540 p.a was due on

30ck June.

Six months insurance was unexpired at

Rs. 75 p.a.
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Spsaney|b eNlurmsefler ojiqLliLenL_ulled 30.6.07 (piguw

20 Hnwsder Georu Bl sewsE wHnIL Py

Blemevs @MlLienLIs Sevwrs :

eduro

30.6.2006 giev1m) Er&SIHLIL
epHuenest

Qlamem(Lpg60

2 HUGSH G060

S6TT(ETHLILq.8 61T

&LDLI6ITLD

QUM

Cung & GlFmea|seT &TLLEH 2 6TuL
60l HL_L_ &60018(F) 30.6.06

LRIsTSMULD Clae)sdlwig)

24
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@ -
7,500 —

— 35,000
24,500 —
5,000 —
700 500
750 —
495 —
1,705 —
— 1,500
900 —
AF-2270




euro

(W6 1000 LikiGseT em. 10 eSzLd
sL_evmerflae HMID &L evibCHmys6r
Qum) HMID eTHS T

Qrm&sL WOHMID eunid

281580

QUTTESL_60T

gflal_(HFHeos6 :

i) 30.6.07 gyeoim) s7aE HLIL em. 8,200.

uHD)

483

aUrey

10,000

1,750

1,553

(i) empSHrs Cowwresid e oy ewT(H1&E 10%.

(iii) sLewne s 58 eul L 1b 5%.

(iv) sLson5Cany 158 eulL b 2%4 %.

(v) efieys Osrens

sPllugsnE ey

Guevnesstenio Quwis@&hIg Sifle| Hlareomgdleo

15%.

(Vi) 20 2996t i6vTM) €(H OIS eUTL_6W& [Elediemeu
2, 6TTOIL_68TM)&(&) eh. 540 6ig55160.

(vil) gm wrs srShH el Gl s wg)
26T L_enTm) | &S ¢h. 75 6555560

25

AF-2270




19. The following is the Balance Sheet of X Co Ltd. as on
31st December 2005.

Liabilities Rs.  Assets Rs.

Share capital 12,000 shares of

Rs. 10 each fully paid 1,20,000 Land and Buiicing 90,000
Sundry creditors 30,000  Machinery 50,000
Bank overdraft 28,000  Siock 17,000

Sundry debtors 20,000

Profit & Loss account 1,000

1713,000 1,78,000

The company went into Voluntary Liquidation and the
assets were 2l to Y Co. Ltd for Rs.1,50,000 payable as
to Rs. 60,549 in cash [which is sufficient to discharge
creditors and bank overdraft and to payoffthe winding
upezpenses of Rs. 2,000] and as to Rs. 90,000 by the
allotment of 12,000 shares of Rs. 10 each of the Y Co.

Ltd Rs. 7.50 per share paid -up.
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Draw up the important Ledger accounts to close the
books of X’ Co Ltd and the Journal entries for recording

these transactions in the books of Y’ Co. Ltd.

2005, iq&wui 31 premenempw X Hlnieuenglen QL

Blemevs @Ml MesteumLommy.

Qummy s . Qangzye .
LIBIE(PS60 (P(Pougiid Olaa)sa L b ppmd
. 10 wdliyeniw 12,000 LkigssT 1,20,000 “. &g 1 90,000
LnLe sLafbGamaeT 30,000 Quglyd 50,000
ourié) GuosdeuanL LD 28,000  sradlmiy 17,000

LnLIe) sLevmelaem 20,000
Booun L5 8/ 1,000

1,78,000 1,78,000
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@nklneued gesennies seneol1lln@ Glesmgl. Geyibd
OQensgsemnet Bneiensdne ep. 1,50,000 H@ eNpma.
dlev em. 60,000 Qrrsswrsed [semeolils Glaevey
eh. 2,000 sL_evfbCanisenst STliLgnares Clgevea], HMILD
6u il &l CweveuenrLliumenmuyLd QarMuugmns@
Curgiwrengrs Qms@b]. Waweret eph. 90,000 &y LGS,
QeI @, em. 7.50 Qlee)sHw eemaullev e 1S DSILIL emLw
12,000 umi@senen Y BimieusnsSn @ eaisdlwg).

@nhlapasemer Y Blneuen ssisans ySlw Caemeuwimes
SMUCUL U udleysemeruir X Hineier g &eflev

CaemeuliL(id (padHlwwrer CURN_ D& &6uw1s@HSenemuyLd

S([hHS.

20. On Jan 31st 2005 a ccmpulsory order for winding up
was made againsi-X Co Ltd. The following particulars
are disclosec.

Book value Estimated to produced
Rs. Rs.

Cash in kand 100 100

Debtors 4,000 3,600

Buildings 60,000 48,000
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Rs. Rs.

Furniture 20,000 20,000
Unsecured creditors 20,000

Debentures

Secured on buildings 42,000

Secured on floating charge 10,000

Preferential creditors 6,000

Share capital 3,20,200

Estimated Liabilities toipills discounted was Rs. 6,000
estimated to bankFs.6,000, other contingent liability

were Rs. 12,000 2stimated to rank Rs. 12,000.

The compaiiy was formed on 1.1.02 and has made

Lossesct Rgs. 3,13,900.

Prepare Statement of Affairs and Deficiency account.
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e1&ev .60 et HimiwsSnE eidlrns meseufl 31.07
& sLLmTw semeoliunement Wpllssliul L g).

SPESTEWLD H&6U6VS6T | MBIWILILIL_L6uT.

Usss bALY  wEILACHIWLL

Li_L Clgrens
o t

m&1l6 Qrrasn 12 100
sLenmelge 4000 3,600
BLIqL migeT 60,000 48,000
SET6UTL &TIDN6S6T 20,000 20,000
enemmidlsoeon sLafbCaniaer 20,000
BLELIGS TTaicH6T

&Ll mige 155 e o engy 42,000

Birka1 win - smwiller B enewrerens 10,000
(pengfleniod sLebCamy 6,000

LIBIG(pS60 3,20,000
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wrHnE FO eulL b CEugre gnulL. Glummyli em.
6,000 UG QeEuwiulL Ggrens op. 6,000 9
Blawpeien_eur QurmitiyssT eph. 12,000 gy @w. wSUT0H

Qewwiul L Ggrens em. 12,000 gy @L.

1.1.2002 gjeormy Hmiwd Campmmiefssiiu’ bien. 3,13,900
BLL LD emL_h)6meng). euenfla eleusmrii:  iquieneow|w,

LDDISGHeND &6wsTsdlemesti|d Suwimy bidiis.

kskosk —
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AF-2271 BCC 5C2

B.Com.(C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

INCOME TAX LAW AND PRACTICE

(CBCS—2008 onwards)
Time : 3 Hours Meximum : 75 Marks
Part A (10 x 2 =20)

Answer all questions.
1.  Whatis Income Tax ?

QU (THLOMEYT 6Ufl 6TEBTMT6D 6157 50T ?

2. What do you mean by Tax Liability ?
Qeass Ceumsiqw eufl eteTug LD 210G &HHSH

wrg ?

3. Whatis Assessment Year ?

S6TT1E5HS (D) 24,600T(D) 6TESIMHITEV 6T6TTEHT ?



Who 1s an Assessee ?

eufleN S m @ flweur stestueur wimy ?

Give the meaning of ‘Casual Income”’.

FHOIFWIEO 6u(HLOTEUTLD 6TESTLIS 68T GILIM(HET HHE .

What is meant by ‘Unabsorbed Depiceiation’ ?

‘rrrssLuLTg Cauinnestd’ stesiimest ClLITHeT wng ?

What do you mean by ‘Expected Rental Value’ ?

aHTCHISH@GW UM s DSILIL| 6T6sTLIG LD 2 108 H([HSS)
wngl ?

State the nivaning of “Allowances’.

LIlg &6 61s0TLIG60T GlLimmemer @GN (Hs.

2 AF-2271




9.  Distinguish between Short Term and Long Term Capital

Gains.

SIS 160 HMID BT HT6V PPEVSEBT By SIS 6N

Camu® 5z15.

10. What do you mean by ‘Exempted Securities” ¢
auffl elevaseflasiul_L eneswmiser.sTerLg LD 2 108

HHSS WGl ?

Part B (5x5=25)

Answer all guestions.

11. (a) Give the Canons of ¢xation relevant to India.

@ndwurelng OQurmsswre eaufleddliys

Camlum@):6m6m &(Hs.

(Or)

(b) State the various sources of Income Tax Law.

euponest euflé sl gdlesr LeoGeaum epeOmIGem 6T

GSOLAHs.

3 AF-2271




12. (a)

(b)

13. (a)

Define “Person’ as per Income Tax Act.

au@wres eufl sl gdlerug mUF eTeorL S 6ot

6UmTel6V&HSHETTLD &(H.
(Or)

Differentiate between Capital an'i Revenue items.
ppevgen  WLOHMIL  euEALrtlen B e & em e

Camu® 5a15.

Give five examples 5f incomes which are totaly

exempted from Iueenie Tax.
euwrer weufl  NHLINONHBH (PG

NlevssmeEasiuLl L ™Mb & 25 1 6uoT

6 (THLOT6VTInl H6W 6T S, &(IH.

(Or)

4 AF-2271




(b) On 1-4-2009 the WDV of various assets of a
manufacturing cancern was as given below :

Machinery Building

Rs. Rs.
WDV at the beginning of the year 5,00,000 20:00,000
Additions during the year (1-8-2009) 6,00,000 NIL
Sale of a part of the asset during
the year 1050000 4,00,000

Rate of depreciation for Machinery is 15% and Building
10%. Compute Depreciatien £ the previous year 2009-

10 and written down valuea1r51-3-2010.

@ 2-pusSH Hin.auivsdlen LeoCeun Clengg) saserflem
&oDhHg Gl (Lenn @@Ly 1-4-2009 gem)

SpeuHomm)
Buindlrd &LigL LD
- -

260D Sleus s MDHS 0lFed(Wevm

By 5,00,000  20,00,000
Beueuneniqed dn(HFeonsSg

(1-8-2009) 6,00,000 Bevemev
Beueuneteriq60 ellmm OlFng e

UIGE] 10,00,000 4,00,000

5 AF-2271




Couwwrer g QPuprsdlnEg 15% wHmID
sigLSMn@ 10%. 2009-10 (pHeNSW 26657l D& Tewt
Gawiwned wHmd 31-3-2010 0 @GeOMHIE ClFe(Lpenm

B BLILS6T SevtTsElL_a L.

14. (a) From the following information, conipute Gross

salary :
Rs. Rs.
Salary 24,000 Dearness Allowances 3,000
House Rent Allowances 24,000 (Kent Paid 18,000

Speau@mbd eMupd Harewr(h CwLISs &FwuUeTd

SETBTHE L6 LD
. .
GLOLIGLD 24,000  uEpsLILIg 3,000
eS_(H eum_ensmLiLilg 24000 eur_ens QFe)S5S W 18,000

(Or)

6 AF-2271




(b) From the following particulars, calculate Gross Annual

Value :
Rs. Rs.
Municipal Rental Value 48,000  Standard Rent 52,500
Fair Rental Value 50,000  Annual Rent 72,000

During the previous year house was vacint ‘or 2 months.

Speumb Aurm Csnesr(® 6iorgs eurL_eng WSl

&H65T&HSE (D)5,
(W (W
marmldl euriens wdlliy 48,000 fleneowmes eum_ens 52,500
Blwimw eur_ena wdliiy 0000 oy eum_emas 72,000

BLLUL| (PEe9e yemia 60 650 sredlwmimbs LISkissT 2.

15. (a) Mrs.2 receives family pension Rs.3,000 per month
and Rent from factory along with plant and machinery
25.48,000. Depreciation Rs.300. Fire Insurance
Premium Rs.700. Repairs Rs.500. She also receives
salary from her employer Rs.80,000.

Compute Income from other sources.

7 AF-2271




Smwd ‘o GOLU QUaLS WIS WLISTLISLD
em.3,000 Qumdpry. Qum LD M M| LD
BundlrhsenLen QOFTHHFTENe 6uTL_6m8 ¢rF.48,000
Qumdlpry. Cauwiwresrd er.300. SaaruiSl @
(pemevtold erhy. 700. LipgILIMTLIL ¢h.500. Goenid Zeur
genn Uenflwefllueufl N ®BHE O umib-2erSluib
¢5.80,000 Qeiflesr Qsr Qe U@LTELD
SH6TTHF L6 LD.

(Or)

(b) Following is the Profit and LHhss:"Account of Mr. Raman
for the year ended 31.3.281¢C.

Debit Rs. Credit Rs.

To Salary to Proprietor 10,063, By Gross Profit 50,000
To Staff Salary 1500) By Profit on Sale of car 15,000
To General Expenses 7,000 By Bad debt recovered 5,000
To Interest on capital 2,000 By Interest on Govt

Securities 4,000
To Bad debts 1,000 By Dividend 4,000
To Advertisements 2,700 By Interest on Post office

Savings Account 4,000

8 AF-2271




Rs.

To Fire Insurance 1,000
To Depreciation 3,000
To Provision for Bad debts 1,000
To Income Tax 4,000
To Donation to School 3,000
To Car expenses 3,000
To Net Profit 29,300

82,000

Rs.

82,000

Compute Busin2ss Tncome.

F . rmwen aurseflest 31.3.2010 60 (WigeuemL_wd

BeomL BLL & 563076 SLpeHLOMM) :

LDDI €.
2 flepwwrermy <= wiwd 10,000
uewflwm_ee eardluin 15,000
Qung & ClFeve a6 7,000
(Peobg) eullq 2000

a6y erb.
Cwrss @eomubd 50,000
eungsuiLd eSmmaleo Geom b 15,000
QUTTSL_60T 61(F560 5,000

|78 L9 6% 650TIL B S 61T

B eul_iq 4000
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- -
QTS &L_63T 1,000 umisrgmum 4,000

edlembLrd 2,700  oyepFeva Gadliiy
S6w15(F) 5G| 6uL_Lq. 4,000

ELENNIC) 1,000
GCauiomesid 3,000
QUTTSHEL_63T 6515 1,000
au(mLomesTeufl 4,000
Q@ ueerfl&@

Iefl5s BeblsTenL 3,000

aunsests ClFevey 3,000
Blar @eomuib 29,365
32,000 82,000

AW QU(HLOMEVTLD &6TuT&HES L_6yLD.
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16.

17.

Part C (3 x10=30)

Answer any three questions.

Describe the important objectives of Taxation.

auflefldlifest (padlw @MsCansnaenen ellatn.

A Malaysian citizen Mr.B left India 011,1-6-2006 after a
continuous stay of 10 years. Duruig the financial year
2007-08 he come back to India and stayed for a period of
46 days and left. In the year 2( (309 he came back to India
on 10-10-2008 and stayed heie thereafter for two years.
Determine the Residentiaistatus of Mr.B for the Assessment

Year 2010-11.

e wGeSlw G men Sl L9 10 oy ewT(hsemns Gl Tk
@ndwuneler sradmnbs Yng 1.6.2006 oyem)
OnSwunrelemrg GeueaflCublesry. 2007.08 w S
SpeutTiq 60 CsrT(Hd @S eupbg 46 BrLser L (HGWw
SR OB NGO Cgerpry. 2008-09 b gy 6w (6
10.1€:2008 e e @rHwr eunHmbs Drever(d
s sudl Qmbary. Hwm Y9 eurseflen
&gy Blemeo 2010-2011 1b gy evTIqM @) Swnenflss.

11 AF-2271




18

19.

. What are the conditions laid down in Income Tax Act

1961 to claim Depreciation on Fixed Assets.

Blemev&lensgsaen g Cguinesid Gy eupone oufls

gL 1b 1961 60 sapliul L flubgenenger wreneu ?

assets :

Sale proceeds

Rs.
(i) Land Purchased in 1985-&86 ‘or
Rs.18,000 [cost Inflation inaex —133] 65,000
(i1) Machinery purchased in
1983-84 [CII-125] for'Rs.50,000
written dowrirzaiue on 1-4-2009
Rs.35,000] 60,000

(iii) Furniture purchased on 1-4-2008 for Rs. 1,000 1,300
(iv) Plawstpurchased on 1-4-2008 for Rs.10,000 12,000
(v) One Residential house purchased in 1987-88

for Rs.30,000 [CII-150] 88,200

Compute Income from Capital gains of Mr. Murugan.

During the year ended 2009-10 Murugan soid the following

12 AF-2271




2009-10 b oypewwrige0 (WPHEHem DM Cl&FNS g &6
esteu(mHLoTm).

flbmi eure
erp.
(1) 1985-86 6v ¢m.18,000h eurridlu Hleotd
[uewrelisas oLs8 GNHui - 133] 65,000

(ii) 1983-84 6v em.50,000M (8 eunmidlus G iibSyid

[L.68. .21 -125]

1-4-2009 oyev1m) Gsuiiemesio

e1wd Gempasiiu i wdiiy er.35,000] 60,000
(1i1) 1-4-2008 &v em.1,200 m@ eummilu

LDEW 6UBTS &68! 6701 L1 Ol LI (T 6T 1,300
(iv) 1-4-206G5-<> €5.10,000pH @ eurddlw Qumy 12,000
(v) 1957-38 60 ¢5.30,000m 3 eummdlw @quimriyeS®

[L.68.@.1 -150] 88,200

(P HS6Tl68T PPV Y FTILSENG HeEsvTSHEL_6Lb.
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20. From the following particulars calculate the salary Income
of Mr.M for the Assessment Year 2010-11.

Salary Rs.5,500 per month House Rent allowance Rs.2,400

per month. Dearness allowance Rs.3,300 per month.
Entertainment allowance Rs. 1,200 per month:

His employer contributes to provident funnd 14% of salary.
He lives in a rented house monthly rentv2ing Rs.3,000. He
pays Life Insurance premium R%.4,000. He has been
provided with a Gardener and a Sweener. Their salary Rs.500
p.m. and Rs.600 p.m. respectively:

Speau@mbd ellugd OGsrerim 2010-11 sewrsSE®m

S, 6TTTINESBMET S (I 6TLD 647 FIOLIET eU(HLOMEVTLD S6vsTSH (D&,

FWOUETD WIS ehH:5.500 6SL_(h eumr_emsLlitlg WIFLD

. 2,400 LEh&LILIL. DTS em. 3,300.
CaeflaemaLiLiin-wrsid em. 1,200.

Cewmpen e s@ euflen uemflueflling Clae)sg eug
FL6TS 50 14% Beur @ qull(ha@w eI (ReurL_eng LrgLd
eh. 2900 Gleu ClFaSSID u|LsTULT (H (PenssTLDLD o1h.
4,000. @61 @ CaHTL_L&&TTT oHMID &L Teumen) eugs
Seflaaiiul_(Reteng @eurssrfles FwLend (WemnGw IS
e.500 HmLb ¢, 600.

sk
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AF-2272 BCC5C3

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

JAVA PROGRAMMINC:

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part A (10 x 15 = 15)

Answer the following a'l questions.

1. The original name of vie Java language is

Java Glwmifluflesi»_sssremiowimest GlLwy ————.

2. ———~ s another popular browser developed by

micresott.

Microsoft 2 meuraHw wnolmmr popular browser



An

constant refers to a sequence of digits.

auflengwnen stevoiasemens GHmls@w Constant

What is a variable ?

Variable etesimmev etevtent ?

What is a package ?

~

Package stetrmmev etestent 3

What are the twa &7pes of errors ?

B revsT(h) UEHSWINEST ETTOT'S 6T6vT6NT ?

How au we define a catch Block ?

Catch block g steueunmy) euenrwenm GClawieumis ?

2 AF-2272




10.

11.

What is a Local Applet ?

Local Appleteresimnev etevtevt ?

Write the applet code to draw the cube.

Cube suemreugmanesr Code g e1(1pg15-2

Write a Java program to find.out the square root of the

given number 5.

eTevuT 5-681 square roct-g; sewrLmlujd Java program g
61(p&IS ?
Part B (5x3=15)
Answer the following questions.

(a) _ Vhat is the contribution of Java to the web

browser ?

Web browser-ev Java Lk, etettent ?

(Or)

3 AF-2272




12.

(b)

(a)

(b)

How Java differs from C++ ?

C++ -00 @mBs Java eteusunny CoumLiG &g ?

In what ways does a switch statemendiffer from

an if statement ?

If statement -e0 @mHg switch ctatement eteueunm)

Caumiu@G &g

(Or)

What is an ar»a ¢ ? Give one example program and

explain ?

Array sieoipmed etestest ? e program er(pdl

e msge]Lwb.

4 AF-2272




13.

14.

(a)

(b)

(a)

(b)

How can you create an object ?

object-gg eT6ueuMm)| 2 (HEUTS G 6UML.

(Or)

Explain the overriding methods.

Over riding methods-gy e9auflaseyLb.

Discuss the stopping and blocking a thread ?

Stopping anl blocking thread umn)l efeufl ?

(Or)

Fovr do we add a class to a package ?

& package ev class-gg eteueunmy Garliumi ?

5 AF-2272




15. (a) How can you design the web page using Applet ?

Applet & 2 LGWHS8 @ Web page & sTeueumm)

Qeweumus ?

(Or)

(b) Explain the purpose of each arginent used in the

method draw Arc ().

Draw Arc ( ) mechod-ev 2 emem eeuGleun(m

argument-6sm LIW6T&eneN 61(1pS1S.

Fart C (3 x10=30)

Answer theoilowing any three questions.

16. Explainthe Java environment JDK.

Java environment JDK upml eSleuflsaseyib.

6 AF-2272




17.

18.

19.

20.

Discuss the Java operators and expressions ?

Java-est operators wpmib expressions upml edeuflsseayb.

Give Syntax and examples of final vaiiables and

methods ?

Final variables wpmw methods sr Syntax erqps

2 gnrewid Clar@ ?

How can you creating a.tireads ? Give one example

program with output!

Thread-g eteueuiini 2 Heuns@eumis ? output 2 L6 e

program ers3l clleuflEseab.

Descriha the complete life cycle of Applet ?

Applet-er (ppemwwinen life cycle-g efleufléseayi.

skkok
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AF-2273 BCC5E1A

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

Elective—MS OFFICE

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 60 Marks

Part A (10 x 15 = 15)

Answer all gquesions.

1. Define Computer.

&6t LILIT6sT- Quem i m).

2. What is-Analog computer ?

S{606TEINS SIDLILLL LT 6T6ITMNED 616316 2



What is Undo ?

Undo etetrmmev erestest ?

What is meant by Header ?

QamL L eTesTLIgest GlLimhe wing) ?

What is Spread sheet ?

el FL etetTmmEL 6T6BT6

What is Chart ?

QUEDITLIL_LD ST631IDT6D 6T6BT6NT 2

What is mean by Database ?

G nGuen etesTLigest QLim(me wing ?
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8. Whatis Query ?

Query e16s1mT6V 6T6TTERT ?

9. Whatis MS-Power Point ?

MS-Power Point etestmmev etevtent ?

10. What is Animation ?

2| 6vflGLoag6s1 6TETMHTEL 6TEDIT 2

Part B (5x3=15)

Azswer all questions.

11. (a) Fxniain the components of Computer.

sewflLiLimesf 631 o mysemen ellens: .

(Or)
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(b) Distinguish Computer from Human beings.

senflliLitenes wesflgiaefl 0 BBE CouniLOS55 5.

12. (a) Write short notes on Undo and Redo option in Edit

Menu.

eTigL_Glweneleo Redo wmyn Undo upm fAm
GO euenrs.

(Cr)

(b) How do youicreate Table in MS-Word ?

MS-Woid-epw vwestu (B &S TeU eU M)

S|L=L DUENHETTEN U 2_(THEUTSHEGH UM ?
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13. (a) Explain about Auto Fill features of MS-Excel.

ersevedlear Auto Fill Quieoyser @nsg eflens@s.

(Or)

(b) How do you create and ceopy formula in

MS-Excel ?

eTeveUMM)| 618561065160 (&< TEISENET 2_(hEUNTS @6l ?

14. (a) Explain the procedure for creating primary key.

(PSesTemLL FTellenil 2 (HeUTS@GHLD HewL_(Lpenmullenevt

eXlems & s.

(Or)
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15.

(b)

(a)

(b)

How do you create Report in MS-Access ?

MS-Access-emwis uwertu®sE  eTeueumm)

SN SBmBEHW 2 (HeuTEHG6UT ?

How can you modify visual elemeiitsof slide ?

Slemevigest 61619660 FnMISHEM6 6TeUEUTM| LOMHMLD

Qeweumus ?

(Cr)

State the procedure for formatting and checking

text in prezentation slide.

&lemn119.60 2_6IT6IT 6T(LDSS|HSHEMEIT 6T6LI6U TM)| {6LOLILITIL
X W59

TN 50 M) 5.
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16.

17.

18.

Part C (3 x10=30)

Answer any three questions.

Briefly explain the various generations of csmputers.

senfluunesflest LevGeoumy wflewmo suaTFfleww elfleuns

eleuffl.

Explain the Editing featuces.of MS-Word.

MS-Word-ev 2 _eimer etia e i1 ApLlilflweorsenem elens@s.

How do you create chart using MS-Excel ?

MS-Execel-enwl nwestu(®s8) steueunm| euenrLenL_S5ens

2 (IHoiS@HeUmil ?
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19.

20.

What are the different types of Query used in
MS Access?

MS Access-ullev LwenL(pgsLILIGWD LeGaim Query emw
eNlens @ s.

Explain the procedure of adding 2nimation in MS

Power Point Presentation.

MS Power Point GleuerfluiL. g %) . 31e6flGoagett 610 LI(GIGSILD
HEDL_(LPENMSBEM6 65168 EH e

St T
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AF-2274 BCC5E1B

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Application

Elective—WEB TECHNOLOGIEY

(CBCS—2008 onwards)
Time : 3 Hours Maximum : 60 Marks
Part A (10 x 1% =15)

Answer all quesiions.

1. Whatis the expansion a1 RL ?

URL stetruigest 69 fic a0 161681 ?

2. Whatis the use of Modem ?

Mode1n o5t Liwest eT6vT6BT ?



Define SLIP.

SLIP eusnrywimy.

What is called Home Page ?

Home Page s1es1m) SiempssiiLi(aug) cesso ?

Write any two names of the Weh Browsers.

aCGaeib @rest( Web Browsers Gluwi stpgis.

What is the usear-Fi-mail ?

E-mail est 11wieot stestent ?

What is multimedia ?

Multimedia stetimmev erestesr ?
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8. Define — List.

List - euemguuimy.

9. How can you work with Windows ?

Windows-ev steueunmy Geuenev Glawieumii 7

10. Which HTML Tag is used to niiderline the given text ?

Qar@ssuul_(@erer text g underline Gewwl

vwesr(pw HTML Tag 6 5 ?

Part B (5x3=15)

Answer all the questions.

11. (a) . Write the history of the Internet.

Internet-etm eureompHilenen 61(LpGiS.

(Or)
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(b) Write short notes on CDROMS.

CDROMS upg) Sl @niiliy euenys.

12. (a) Write about the Internet Service Providers.

Internet Service Providers ups enpgis.

(Or)

(b) Briefly explain th= ( yber space.

Cyber space Li>n elfleunas eflens@s.

13. (a) Explain‘about SLIP and PPP.

CLIP wpmib PPP g eflens@s.

(Or)

4 AF-2274




14.

(b) List out the uses of E-mail and On-line services.

(a)

(b)

E-mail wpmid On-line services e Liwensemer

auflensliL(HDS5SS.

What is the requirement of Fardware and

Software to the Web server ?

Web server &@g CaemeuiLmen euett OlLIN(HeT HMILD

Q6O LIm(m6TT 6T6BTERT 2

(r)

Write shoxzt notes on HTTPD.

HTTRD upnil emi @iy euemys.
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15. (a) Compare the HTML and Multimedia.

HTML wpmib Multimedia g U@ s.

(Or)

(b) Write about the Home Pages.

Home Pages up) erpg:s:

art C (83 x10=30)

Answer @iy tiaree questions.

16. Which typesof Services available on the Internet ?

Internet. s 61b5 euemawnest Services 2_efemest ?

17. Explain the Web access.

Web access umnil elens@s.
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18.

19.

20.

Explain the Cyber space.

Cyber space upnl eflens@s.

Write about the phone lines.

Phone lines upg er(pgis.

Discuss about the HTML tags.

HTML tags umn) eSeunfls &.

Hkkok
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AF-2275 BCC5E2B

B.Com. (C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Applications

Elective—AUDITING

(CBCS—2008 onwards)

Time : 3 Hours Maximum : 75 Marks

Part A (10 x 2 = 20)

Answer all ques‘ions.

1. Define Auditing.

FevilSenaulliie0 . eLenTWI).

2.  What is. Error of principle ?

Cam' .un( Wenwp eTesTmm6L 6T6BIENT ?



What is Internal Control ?

31555 (HLLM(h 61635TDMT6V 6T6sT6EN 2

Define Internal Check.

SIBSHSTMIG elenTwimI.

What is vouching ?

FNESTMMULIEY 6TEBTMIT6V 6TEBT6v ¢

What is Bank overdraft ?

cuidl Goe ausnTLILDHM) 6T6ITHTEL 6TevTEs ?

Whayt is verification of assets ?

Clanggsamemen &ifl LINMTSSH60 6T68IMM6D 6T65T6 2
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10.

11.

What are Audit working papers ?

Fenflsens BenL (penm STEHHRISGET Wwrened ?

What do you mean by Annual Audit ?

2peT(DS Fenfleens stestLGes ClUmpeT wig ?

What is Audit Programme ?

Fewfl 698 HEwL_(LPEMM 6T66:MIi60 6TEBTEE ?

Port B (5x 5=25)
Aricwer all questions.

(a) What are the differences between Auditing and

Invectigation ?

FenflEemaulwed WHMID LeV6TTla|&H@EW 2 66T

Ceoumium(@ &6 wnemeu ?

(Or)
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12.

13.

(b)

(a)

(b)

(a)

State the advantages of audit.

F60511 8608 U 6TT [HETTEMLOSHEWET Fon (1)

Explain the procedure for audit.

Fewflsenaullen BenL(ennulendst 6ilens@s.

(Or)

Describe the objectives of Internal check.

esFrmieller Crrsasnisenst elleund).

Bring otut the importance of vouching.

sueimmielden (P&H WG eusemns Cleueflioarewis.

(Or)
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(b) How do you vouch the credit sales ?

sL_65T el DHLIEHETTENIL 6TeU6UMM)| FnesTniiiey Clguieumi ?

14. (a) As an auditor, how will you verify Fixed Assets

QR saflaemaswnery eernm Yenmuled Hleneos

QlEnsgIsseme eTeueunm| FFlLmTLITL ?

(Or;

(b) Write a note on: Awucit Report.

Fenflsens 2ifsams @GNS fn GDIUL cuenrs.

15. (a) Explain the legal position of auditor.

senflsenawfles L Hlemevenoulener ellens@s.

(Or)
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(b) How do you value the Investments ?

wpaeShaemer f eteueumn wHLUINHeumi ?

Part C 2 x 10 =30)

Answer any three questions.

16. Briefly explain the various tytes of audit.

genflsenaullen Lo Gaumi aurnsenen ell6mns@s.

17. Discuss about auaGitors duty as regards internal check.

a&8rmilen GNS5EH Senflsenawrenflen &L emwasenern

eNleund).
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18.

19.

20.

How will you vouch the receipt side of cash book ?

QIT&S 67 19.60T QU6 LISHSSHENS 6TeUaUTMN)| FTemTDTUIEUTII ?

Explain the different methods of valuatioi..ot Stock in

trade.

elwrury @mueou wHUSTH CFuwb veGoumy
(PeOrmS& 06T 66 Es.

Discuss the civil and crimianal liabilities of a company

auditor.

@@ swolusfluiicr senflaenswnenflen @nnelwev wHMID
dleflev QUMM Liseme 2y rmiiis.

skkok
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AF-2276 BCC5E3B

B.Com.(C.A) DEGREE EXAMINATION
NOVEMBER 2010

Fifth Semester

Commerce with Computer Application

Elective—COST ACCOUNTING

(CBCS—2008 onwards)

Time : 3 Hours Meximum : 75 Marks

Part A (10 x 2 = 20)
Answer all quesiions.

1. Define Cost Accounting.

S| 5566960 HevrTHd v, —aienTuIm).

2. What is Cost:iShect ?

I L&&eN6060L1 LIL_IGUI6D 6T6STDTED 6T63T60T 2

3. Whatis Economic—ordering Quantity ?

Fages1 Cl&TEMT(LPSH6D |66 6TETMTED 6T6TTEUT ?



What is Perpetual Inventory system ?

Blemev GlumerflBLILY (Wewm eTesTHTEL 6TEBIES ?

What is time wage system ?

Crr eardlui (pewm 6T6ITMTEL 6T6TENT ?

What is Labour Turnover ?

Qamfleorsm &pmdl eTesTmTED 616D ?

Give formula for Rowan plan.

Crmeunent SIL_L SHN&u GHSHNTHMSS S(HS.

What is Macliin< Hour Rate ?

Buindly wewll Cur 65510 eTesTMTEL 6TESTON ?

What is contract costing ?

UGS L 55616060 SHesuTsHElIIe) 6T6TMTE 6T6sTE ?
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10. Whatis Abnormal Gain ?

| FNSMT6vT G 6VMLILD 6T6ETTMT6D 6T6ITEHT ?

Part B (5x5=25)

Answer all the questions.

11. (a) State the advantages of Cost Accounting.

SIL58 6Xlemev H6vtT18hS WS 6s heTenLDSED6T Foll)| 5.

(Or;

(b) Prepare a Cost shee
Raw materiaiz consumed Rs.80,000
Wages Rs.20,000

Factory expenses is charged at 100% of wages, office

overneads charged at 20% on factory cost.
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12. (a)

568 ellemeolt LI Iquied Fwimy QlFws

BISTLULL L ewpeoLt Glummet em.80,000

&6 em.2 05000

Qamfinsreney Glawea ser amediuwieo 100%
Vs CnblFeyser GgTanFTmed L&

elemeoulilev 20% .

From the follwing particulars, calculate EOQ.

Annual requiremeiits 1600 units

Cost of Materials Rs.40 per unit

Cost. ¢f placing and receiving Rs.50 an order

Storage and carrying cost 10% of inventory per annum.
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Westeupw elurmiseailed(phg Hasen 2 5576y

S|6TEMEUG &6T0TSHS (DG,

@@ TS Caemeu 1600 o606

eweolt Qunperflest 9L&ab .40 155160&H S
Q@ 2 5576 HaMTe Glamear(paea OO 6lumgeo
SIL&aLD erR.50.

QL mmem em Cemfl 5l 69 6 LI LI & ) & 1T 63T

OFeva|-grsdlmLLite) 0% [y emT(H&HE)] -

()

(b) From the fo.lowing particulars; calculate re-order
level, Mizanium level and Maximum level.

Normal usage 50 units per week each.

Minimuti asage ... 25 units per week each.

Maxiiaum usage ... 75 units per week each.

Re-order quantity ... 300 units

Re-order period ... 4 to 6 weeks
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Spsewi eNlurhisefleBBa N &IPS,

&®ODhS WLHNID 2 Wikhs FrafmLy Heneosenens

SH6UBTEHF L6 LD.

gngnrewr 2 LIGuInsLD

&ODhSeme| 2 LIGuimsLd

2 Wikhg jemey 2 LGwIsD ...

N C&TET(PFHeo 6y

m) Cl&MeT(PSH60 HTevid

503160@36T aui THS M (&

259160867 UMTSHD .

75..960@&6T euMTSH M .

290 sjeo@ae

4 a6 6 eunrriger

13. (a) From the falowing data, calculate the total earnings

of the'worker under the Halsey and Rowan plans.

Time allowed 48 hours.

Time taken 40 hours.

Rate per hour Re.1.
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Spsevi eaurmsealed(Bhs anpmeodl wHMID
Crreuenr L L musem gpeod Glgmileomen(hs &

SlewL_s@W Crss cardliGenss Sreuwrs.
Sl dlss Crrw = 48 wewfl.
(D555 Qe Crrb = 40 ot
.60 65D (1 wenfla@ - om. 1.

(Or)

(b) From the following data, calculate the earnings of A
and B under Taylor s-aiiierential piece rate system :

Standard time 10U units per hour.

Normal wzge R 1per hour.

Differeiitials to be applied :

75% of piece rate when below standard.
1229% of piece rate when below standard.

In a day of 8 hours, A produced 60 units and
B 100 units.
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14. (a)

A vpmid B e eardluigens Glieoflen wrmyum (G
0@ 6ig (wemmulilev Lesteu(hd & 6ue0a6rfleS) (HHbS)
&H65T&HE (D)5,

GOLYLL g7 Crw - 1 wewflé@ 10 Qev@aer.
BweoLinest Fa6d) - 1 wewflag, ep. 1 eizD
wIMILT_(H 0@ ei50 LwessTUTL_(Hi @OsOm.

ST jeTemel el Genmeuns - 75% 21u0@ 6551D.
&7 jememeu 6L Wlensuwins - 12£% 960 eisid.

8 wewfl GlarewnTL 6 Breflcy A 60 ev@HemenyL,
B 100 j60@aemenu|bd g1 g 6.

From the following particulars compute the machine

hour rate :
— Cost of machame — Rs. 11,000
— Scrap vatue — Rs.680
— Runairs for the effective working life — Rs.1,500
<~ tanding charges for 4 weekely periods — Rs.1,600
— Effective working life — 10,000 hours

— Power used 6 units per hour at 5 paise per unit.

— Hours worked in weekly period — 120 hours.
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)

Yetreu(pHLd H&eusvaefleS (Big e1hdlroenfl eigsenss

GH6wT&HH (D&

anSlrsdes 9L&awb — ep.11,000

e16hFw [ 9160608 611l HLIL — em.680

&rnen uenflganeo Lipg urgLiL — em. 1,500

4 euny srevgSlna e Hlemeownest Gie eyget — em. 1,600

uesflé&smeo — 10,000 wewfl.

WlenrSlmett 62(1h wewsfla @, € 2§30 @GS6, evblanearBinG,
5 emugm eIgLb.

4eunybd Camesor &g dlest Lewfl Crrw — 120 wewfl.

(Or)

Whataic the different methods of overhead absorption ?

Cwmelgeeayser WL sliLeugen LIeGaim| (Penmas

wremeu ?
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15.

(a) Inprocess A 100units of raw maerials were introduced

at a cost of Rs.1,000. The other expenditure incurred
by the process was Rs.602 . Of the units introduced
10% are normally lost in the course of mianufacture
and they possess a scrap value of Rs.3 ¢aci. The output
of process A was only 75 units. Prcpare process A

account and abnormal loss aceount.

A ugflemeoulleo 100 “ev@Hs6T Gl&mevwTL
ppeoiOur@mLser, "eF.1,000 wHllyenLwg,
IV WaLLRSSL 1 _g). Lighlemeouley ClFwig wmm
0 & 6v 6l vt B G eh . 602 S,
IANWsLIESSUULL Jeo@Gsefled 10% Quicoy
BLL TG, @sen wdlly erm h.3 I @GW.
A Ligmemeoulled 2 HuSH QElwtiul L 6@
TS @@w. A uighlenend SHemTHENSU|D, IFTSHMTEUT

BLL & SewISemaW LD SWflés.

(Or)
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(b) From the following information find out the cost of
X and Y the later being the by products on whose sale

a profit of 20% on selling price is obtained.

Separate Expenses

Joint Expenses X Y

Rs. RS. Rs.
Material 9,000 2,000 1,000
Labour 4,600 800 300
Expenses 2,600 1,000 400

Total amount real sed by sale of Y was Rs.3,500.
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16.

Yesmeupd SHelevsemens Glarssnr(m X womin Y e
L B85535 H6vriHS(0S. Y 61601 &)emesutLIGILIm(Hemer

Apuenes ellemeoufied 20% etetTm @ evmuSSl 60

NmaLiul’ L 6w :
Feufle Q=606 &6
Qungs Glgeveyset X Y
e et e
oot GlummLlsst 9,000 2,000 1,000
G060 4,000 800 300
Qlgevey a6 2,000 1,000 400

Y- a1 eflpuemenuilef gy HenL_g5 Clgnens em.3,500.

Part C (3x10=30)
Answer any three questions.

Distinguis:: between Cost Accounting from Financial

Accotliiiag.

EXTIR- ¥ el 6w 60 & 6u5T & &l W 6 60 15 8l ) ém 60

sew1a$weded g Caimiu®sd) sr_bHs.
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From the following particulars prepare Stores Ledger

account under (i) Simple average method and (ii) Weighted

average method.
Purchase Rate Issees
Rs.p.
5-4-96 200 units  2:QU —
7-4-96 300 units>_ "~ 2.40 —
10-4-96 — — 250 units
16-4-96 ?580°units  2.60 —
25-4-96 — — 200 units.
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Wemeupd efeurmseflelhibg LewrL_msst CLCTL (D&

560015605

@)
(ii)

5-4-96

7-4-96

10-4-96

16-4-96

25-4-96

&1 & IT 1] 6501 grngf &l ém 6V (1p 6w M Ul 6V LD

wSlliy gpulL grrafl eleneo (Wewpule)d swnfléss

Qanempger elemev 6550 YA C)

¢h. 6L

200 160@ a6 2.060 -

300 geo@sein. -~ 2.40 -

— - 250 160@ a6

280 syso@aei 2.60 —

- - 200 160@a6i.
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18. Calculate the normal and overtime wages payable to a

workman from the following data :

Days Hours worked
Monday 8
Tuesday 10
Wednesday 9
Thursday 11
Friday 9
Saturday 4
Normal working hcars  : 8 hours per day.

Normal rate

Overtlrie rate

50 paise per hour.

Upto 9 hours in a day at single
rate and over 9 hours in a day at

double rate.
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Spanemib eleurrisefledBhg e Liewilwmerflen sngmyesr

LOHMID ens Srev earliiGeng sewrsdl (Hs.

gngnyeset 2 ewipLi] CmyL:
ENGNTETT G060l LDEW H%)

Blems smev 2ors i

BT uewfl Qg Crrbd
Sk 8
Claeueum 10
Lgeur 9
eSlwimpest 11
Qleustiar, 9
geil 4

6T 6601MI8(S) 8 ewfl Crywb.
¢m. 50 emuism.

Wwsev 9 wenflCrr 2_emipLiLy
CrradnE srsrrent gned,

9 wenfl CrrsHmn@E Cwev
Qrligliyg gael.

16
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19. The company has three production departments and two
service departments, and for a period the departmental

distribution summary has the following totals.
Production departments  : Rs.
P, Rs.800; P, Rs.700 ; P; Rs.500 2,000
Service departments

S;Rs.234and S, Rs.300 534

2,534

The expenses of the ceivice departments are charged out

on a % basis as 10 lows :
P, P, Py S S
Service dept. S 20% 40% 30% - 10%
Service depi- 5, - 40% 20% 20% 20% -

Prepare a statement showing the apportionment of two
service departments expenses to production departments

by simultaneous equation method.
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2@® Bnauasdle wem e Huss simpseErd G
CareT(hs FWMSBEHLD 2 6Temest. Fevmaeflest TGS
udlyey Yemeumomm) :

2 HuUSSH FEOMSET : : Rs.
P, em.800; P, em.700 wpmib Py em.500 - 2,000
CaresT(HS FIeHMSB6T

S, e5.234 wpmith S, em. 300 534

2,534

Qaresi(hg glevmactiar blaeea LsThHeflaslL@RD
565D au(HLOML! .

Pl P2 P3 Sl S2
Qsrem®s giswe S, :  20% 40% 30% —  10%
Qsream@d oS, :  40% 20% 20% 20% -

QRHEISMLE FeTUT_(H (peomulled Qrewsr(h Clanesu(Hs
glemmaeflen Glgeealemisenst 2 HLSH &EODSHEHSS
udlingefle@n Sifsmaamus swnflss.
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20. Aproduct passes through three processes, A, B and C. The
normal loss of each process is as follows. Process A—3% ;
process B—5% ; Process C—8%. Loss of process A was sold
at 25 paise per unit that of B at 50 paise per unit'and that of
C Rs.1.00 per unit. 10,000 units were introdicea to process

A atRs.1.00 per unit. The other expenses were as follows :

Process
A B C
s, Rs. Rs.
Materials 1,000 1,500 500
Labour 5,000 8,000 6,500
Direct expenses 1,050 1,188 2,009
Actual gutout [inunits] 9,500 9,100 &,100

Prepare the Process accounts assuming that there were no

opening or closing stock.
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@ Gurmer A ,B wpmid C etestn epeimy Lilg(penmaenen
sLbg sWirrdlmg). eeubleunm Lig(penmaerflen sl a6

&nGMyewst HL_L 1D LSlesau(mHLomm) :

uigpemm A - 3% Ligwenm B - 5% uigwpenn C - 854 syl
RunmeT elmuemes @ vFnEG Ligpenm A eiim@ 0.25
eougm, B - 0.05 enuen, C - ep. 1.00 gy@L. tigpenm A 60
BIOWSSILLL (pSH6eTenid ppevld Olunrenasst oh. 1 eigid

10,000 3160@a611. ST ClFev6 |G

Uig(pemnm

A B C

). erb. erb.
eLPEVLIGILIT(HETTa 6T 1,000 1,500 500
2 empLiL 5,000 8,000 6,500
Crrig& Clgeveyssirn 1,050 1,188 2,009
o HusE Getnulinl L
SIOGST 9,500 9,100 8,100

SULULD 1OHNID (Pigail GlurmLgeT Qevenev. Lig(penn
BHETTI5(&H HEW6TS SIS

skokok
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